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PSA-VII

SAMPLE PAPER FORMAT

Sr. No. Item Type Number of Questions Marks
1. Quantitative Based MCQ 12 12
2 Quantitative Based MCQ 12 12
3. Language Convention
1) English 08 08
2) Hindi 08 08
Total 40 40
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Q.1 Which of the following number is completely divisible by 3

(@) 122 (b) 144
(c) 97 (d) 104
=1 # s i S 3 9 quiqan faarsa §
(@) 122 (b) 144
(c) 97 (d) 104
Q.2  The value of the resultant expression when (x3y + xy?) for x = 2
andy=1is:
(@ 10 (b) 18
(c) 13 (d) 11
x=27ay = 1% foaq s (x3y + xy?) 1 AH A1 B |
(@) 10 (b) 18
(c) 13 (d) 11
Q.3  The ratio of 6m to 30cm is :
(@ 5:1 (b) 1:20
(c) 1:3 (d) 20:1
6 HIZT 9T 30 HoHlo T STIUTT AT |
(@ 5:1 (b) 1:20
() 1:5 (d) 20:1

Question 4 to 7
In given figure (||m and n||o then answer the following questions

Ffg =51 7 (||m T2 njo & T 799 T3 & SW A

m (

(3}

120° 1

y
=]
IN
w
N
©
o
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Q.4

Q.5

Q.6

Q.7

Q.8

The value of Z1 + /4 is :

(a) 85°

(c) 90°

/1 + /4 1 |E 91 B 2
(a) 85°

(c) 90°

The value of £2 + /5 is:
(a) 90°

(c) 95°

/2 + /5 1 °9F 31 8 ?
(a) 90°

(c) 95°

The value of £5 - /4 is:
(a) 60°

(c) 90°

/5 - /4 K1 HH 1 B ?
(a) 60°

(c) 90°

The value of (L1 - £2)+(«£5 - Z4) is:
(a) 50°

(c) 70°

(L1 - £2)+(L5 - £4) &1 5H &1 8R1 2
(a) 50°

(c) 70°

(b)
(d)

(b)
(d)

95°
100°

95°
100°

80°
60°

80°
60°

50°
30°

50°
30°

60°
80°

60°
80°

A wire is bent in the shape of a rectangle. Its length is 40 cm
and breadth is 20cm. If the same wire is bent in the shape of a

square, then side of square is:

(@) 30cm
(c) 25cm

(b)
(d)

35cm
40cm

T AR S T9d & ®9 § TS gaT &, FSreeht g 40cm a2 =g 20cm
T 1 39 R & SR 9 H AT ST , T TAYHR o 7 i ol

TS 4T B
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Q.9

Q.10

Q.M

Q.12

(@) 30cm (b) 35cm

(c) 25cm (d) 40cm

Solve 4(m-1) = 3m+11

(a) 12 (b) 13

(c) 15 (d) 16

gAHU 4(m-1) = 3m+11

(@) 12 (b) 13

(c) 15 (d) 16

Solve : 15x + [8x%+3x-{8x-6+2x+x>-5x2}-4X]

(a) 12x*+4x+6 (b)  12x%-11x+21
(c) 12x2-4x-6 (d) 12x*+4x-6
TA B ;15X + [8X2+3xX-{8X-6+2X+X>-5x2}-4X]

(a) 12x*+4x+6 (b)  12x2-11x+21
(c) 12x2-4x-6 (d) 12x*+4x-6

A lawyer willed his sons A, B, C Rs. 7,50,000 to be divided into
portions 45%, 30%, 20% respectively. What money is left with

the lawyer?
(@) Rs. 36,500 (b) Rs. 37,500
() Rs. 35,000 (d) Rs. 38,000

Teh Fehlal 39 19 A1 A, B T9T C, § T 7,50,000 HHI: 45%, 30% AT
20% feara & &ie Td1 ¥ | Iohial & U Fd fohad ®9 T8 a9 ?

(@) ®. 36,500 (b) ®. 37,500

(c) ®. 35,000 (d) & 38,000

Solve : (156)" x (10000)"

(@)  (156000)" (b)  (15600000)"
(c)  (156000000)" (d)  (1560000)"
7 & : (156)" x (10000)"

(@)  (156000)" (b)  (15600000)"
()  (156000000)" (d)  (1560000)"
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Q.13

Q.14

Q.15

Q.16

Q.17

Solve if (5)° = 3125, then the value of 5°? is :

(@) 625 (b) 25
(c) 3125 (d) 125
T w0 4 (5)* = 3125, A A 5% w1 HE T |
(a) 625 (b) 25
(c) 3125 (d) 125
The value of -50+15x(-5)+5x25 is :
(@ -120 (b) -125
(c) O (d) 50
A 14 A -50+15x%(-5)+5x25
(@) -120 (b) -125
(c) O (d) 50
_X _ X_
Solve 1 35 4
(@ 6 (b) 5
(c) 4 (d) 3
LA X X
TA SR : 1 3= 4
(@ 6 (b) S
(c) 4 (d) 3
The coefficient of abc in the term 5a*b’c’ is :
(a) Sa*b’*c (b) 5
(c) 5ab?c? (d) Sabc
5a‘b’c’H abc T UM FAISI-
(a) 5a’bZ%c (b) 5
(c) 5ab3c? (d) 5abc

A box contains 90 eggs out of which two - third are rotten ones.

Number of good eggs are:

(@ 15 (b) 20
(c) 25 (d) 30

T o H 90 2108 ¥, fod 1 foer o102 o2 gu &1 oo H 1= STUEl i
AT e ?

(@ 15 (b) 20

(c) 25 (d) 30
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Question 18 to 20 are based on given graph, study the graph and
answer the following questions graph shows. the sale of books from 5
shops in 2008 and 2009.

9 18 ¥ 20 d%F & 9 T Uk 0T 37 €, 37eh ST UTH ] THARL < | UTh |

Gre geRMl | foharal et fefsh! € 2008 3T 2009 i ST T |

Q.18

Q.19

R 2008
120 2009

10T ]
100 1 —
Q07T —
80T
70T
60 1
50 1
40 1
30+
201
10t

EIRCEIRGSI:D)

[ehdldl
Sale of Books (In thousands)

o

v

A B D E

C
(TH™) Shops

Total sale of books in shops A, C and E together for both the
years (in thousands)

(@) 550 (b) 560

(c) 540 (d) 500

ST ast # gaEl A, C 3R E ¥ Tt fohamsi &t skl (29”1 #)
(@) 550 (b) 560

(c) 540 (d) 500

Total sale of books of Shop D for both the years:
(@ 180 (b) 140

(c) 185 (d) 170

St ot H g™ D H fhamei &1 %t foshl:

(@) 180 (b) 140

(c) 185 (d) 170
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Q.20 Ratio of sale of books of shop B for both the years

Q.21

Q.22

(@ 1513 (b)  15:19
(c) 15:14 d)  19:22
T B H ST asit | fehameli st farsht o1 STaTd BT
(@ 1513 (b)  15:19
(c) 15:14 d)  19:22

Mother notes the temperature of the child as 40°C. How much is
this temperature more than the normal body temperature.

(@) 2°C (b) 3°C

(c) 4°C (d) 5°C

A 7 =4 &1 AIHE 40°C e fhaT | 9% qoEH TR & 9 a9
foa aferen 2

(@ 2°C (b) 3°C
(c) 4°C (d) 5°C
| |
A s B

Time taken by the bob of the pendulum to move from Ato B is 4
seconds. How much time it will take to move from B to C?

(@) 1 Sec (b) 2 Sec

(c) 3Sec (d) 4 Sec

Teh TS ATk o Tiieteh sl AT B I ST #§ o o1ell T99 4 he(s)
¥ B Y CaF 91§ 2Q foha=1 gm0 o |

(@ 1Sec (b) 2 Sec
(c) 3Sec (d) 4 Sec

8 Class_VII_PSA



Q.23

Q.24

Q.25

Q.26

A powdery brown deposit was observed on the main iron gate of
the school. What could this substance be?

(@) MgO (b)  Ca(OH),

() Fe,0, (d) NaHCO,

el % e o H& gR I P T 1 I8y WA U1 7T | I8 I fohd vare
1 & Hehell & 2

(a) MgO (b) Ca(OH),

() Fe,0, (d) NaHCO,

16 teeth of upper jaw of the human being consist of 4 incissors,
2 canines and

(a) 6 Premolars, 4 Molars (b) 4 Premolar, 6 Molars

(c) 5 Premolars, 5 Molars (d) 3 Molar, 7 Premolars

THE & U 96 & 16 Sidl B W 4 FHdh, 2 TAH R
(@) 6 3T=EU, 4 TR (b) 4 STUTAIR, 6 TAUh
(c) 5 STUFHUE, 5 TR (d) 3 ST=EUeh, 7 TE0H

After heavy exercise, the breathing rate per minute of a young
boy is -

@@ 10 (b) 15
(c) 18 (d) 30
Tga Afueh A A & a8 T fh9i i Yo S 9 e arfl-
(@) 10 (b) 15
(c) 18 (d) 30
|i| HH F———
&

Teacher demonstrated an electric circuit in the class as shown in
the figure below. If one cell is of 1.5V, how much volts of
electricity is produced in the circuit?

e | faga qRay w9emd gu ety 1 1= 9fiay o=@ | 4t & 99
1.5 diee 1 7, i fou e aftge # fora diee forga sea= grft 2

(@ 1.5V (b) 3.0V
(c) 4.5V (d) 6.0V
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Q.27

Q.28

Q.29

Othergases o T
g Otherg =

Nitrogen RIECSE]
78% 78%

In the given pie chart showing the composition of air, find the
percentage of oxygen?

1Y 1 FEA S JARE H ST it Fiaerd [ ared ?

(@) 16% (b)  30%

(c) 21% (d) 18%

A soil sample weighing 100g is dried completely by keeping in
sunshine. The mass of the dried soil is 80 g. Calculate the
percentage of moisture in the soil.

(@) 10% (b) 20%

(c) 30% (d) 40%

100g T<T1 & A 1 YA & TRRT H WA R I TWE @ foa T | [k
T[T T 9R 80g TN 741 | TS T 91 & A | 9Tt skt ferd A
A1 ?

@@ 10% (b) 20%
c) 30% (d) 40%

The speed of a cyclist is 3km/h. It takes 5% hr to reach his
destination. How much distance is travelled by him in
kilometers?

(a) 8.5 (b) 105

(c) 155 (d) 16.5

T WEfRd aed F AT 3 fRH/He €1 Y o Taed T de uged |

55 ¥ T © | WEfohel aTcteh R 9 i T8 G4 fehaiHie # fohat g 2

(@ 8.5 (b) 105
(c) 155 (d) 16.5
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Q.30

Q.31

Q.32

If the maximum humidity values in four different states are as
given below, which state is likely to have more rainfall?

(@ 59% (b) 96%

() 79% (d) 88%

IR fafs= T &1 sAfeRan s w1 °F 1 o T g, o o= |
I B T e HaY ST § 2

(@) 59% (b) 96%
c) 79% (d) 88%

If Rohit is standing at a distance of 2m from a plane mirror, then
distance between Rohit and his image is

(@ 4m (b) 2m

(c) 6m (d) 8m

Ife Afed TuderRydor & 2 Hie? i gl W TSI T, A 3T wfafes § STeh!
<A feperett art 2

(a) 4T (b) 2 HX

(c) 6= (d) s8R

The maximum temperature for four days in a week is

Monday Tuesday Wednesday | Thursday
36°C 35°C 38°C 40°C
which day is the coolest?

(@) Monday (b)  Tuesday

(c) Wednesday (d)  Thursday

e & R Tt o1 siferehdd I9H M 39 YR Bi-

HHar TR FLIAR FRar
36°C 35°C 38°C 40°C
Tod ] fed A W 8 ?

(a) wmer (b) wTEER

(c) Fwm (d) @em
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Q.33 Adoctor felt the pulse of a patient and told him that he had fever.
The pulse rate must be -

(@) 72 beats /min (b) 77 beats/min
(c) 80 beats/ min (d) 90 beats / min
TR 1 M T AET I Tegd fhar 3R s for 38 J@r g1 AW & e
LR @ Bl-
(@) 72 TeA/fEe (b) 77 /T
(c) 80 TgA/fEe (d) 90 T/ fae
Q.34 J
10
7

Distance (km)
T (faeiries)
BN »

N

Time (minute)

e (free)

In the given Distance - time graph, calculate speed in km/min.

QU T -9 T H, fehtlo/fie # =1ma 9 &4

(@ 1 (b) 2

(c) 3 d 4
a3’z O O
A BO
| — o ——

If the time taken by the ball to move from Ato B is 2 Sec, the
speed of the moving ball is:-

(@) 0.15m/s (b) 1.5m/s
(c) 1.5m/s (d) 0.5m/s
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Q.36

Q.37

Q.38

Ifg fqHE ofe 1 A¥ B T T § T o1l 999 2 Ahs § @1 siict i
et &

(@)  0.15 Ho/To (b) 1.5 Tho/To

(c) 1.0 Ho/To (d)  0.15 Hio/To

As per survey conducted, the amount of water consumed per
person per day in J.J. Colony was found to be 30 litres. How
much is it less than the minimum amount of water
recommended by the united Nations.

(@) 30 litres (b) 40 litres

(c) 20 litres (d) 50 litres

Teh HAGIU & STIER, oSl hicil H T alTcl Teh AR TR STHN Y

T ST ohl SRl HIA 30 TleX T8 T | I8 A IRl Tee TRl Tedish SAfehd
% foTu gems 7 511 i =HAqH A § foha &0 § 2

(@) 30X (b) 40 @i

(c) 207 (d) 50 efex

Distance : Metre :: Speed :

(@) km (b) m/s?

(c) m? (d) mis

E;ﬁ e | - TR | [ AR SO

(a) foreflo (b) o’

(c) i (d) o/

In the given clinical thermometer, one small 42°c

division will be equal to- a1°C

fau T gl ouiHe H, U S 9N &1 01 B- a0°c

(@) 0.5°C (b) 0.4°C 39:°

(c) 0.2°C (d) 5.0°C e
37°C
36°C
35°C
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Q.39 The odometer of a car reads 2000km before starting of a

Q.40

Q.41

journey. At the end of the journey it reads 2400 km. How much
is the distance covered in kilometers?
Teh I & IRY T I8 ST & NSIHI a1 TSHieh 2000 fohtle T 1 amm &

370 H ST TS 2400 foheflo T 1 T 1 T8 X fohaiiiex # A1 -

(@) 200 (b) 300

(c) 400 (d) 500

Distance (m) Time (min)/Ewd Hie

T (HeD) Hare/R@amsr Tortoise/&g3T
40 4 10
30 4 10
30 2 15

In a 100m race, time taken by the Hare and the Tortoise in
various stretches of the track is as shown above in the figure.
Hare slept for sometime and the race was won by tortoise. For
how many minutes hare slept?

100 Hiex &1 S #, TR 3R Hgy g1 fafa= v § 71 &1 T g
IR T T B | T % R G 74 IR < FHmgen S wn | s
fohan fae 9 ?

(@ 20 (b) 25
(c) 30 (d) 35

Sahara is the world's largest desert. It is spread over an area of
8.54 lakhs sq. kilometres India's area is 3.2 lakhs sq. kilometres.
How much more is the area of Sahara desert from that of India?

(a) 4.34 (b) 5.34
(c) 6.34 (d) 7.34
Terl fava &1 a8 a1 WM T | I8 T 8.54 T ot feheilHe &
H Hell goT T | R T S 3.2 AN 1 helHIeR & | TeRT T &=kt
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Q.42

Q.43

Q.44

YR & &%hel § forae s1fyes §2

(a) 4.34 (b) 5.34
c) 6.34 (d) 7.34

The population density of Uttrakhand is 159 whereas it is 904 in
West Bengal and 880 in Bihar. How much is the population
density of Bihar less than Bengal's population density?

(a) 24 (b) 26

(c) 28 (d) 30

STREUE o1 STHEA T 159 | Saifeh Y= <7t 1 904 § | foer =t

ST S 880 I ToHl © | TIRR hT SIHEREA Scdl STTeT o SRS
Tcd O fhaT w8 § 2

(@ 24 (b) 26
(c) 28 (d) 30

The amount of Nitrogen and oxygen in the atmosphere is 78%
and 21% respectively. Write down the percentage amount of
other gases present in the atmosphere.

@  12% b) 8%

©) 4% d) 1%

AHUSH B ATEISH 78% TN STRITSH 21% T | IFHISH H 3177 81 1
ETS R IGMEICRI

@  12% (b) 8%

) 4% d) 1%

In Canada the temperature is 20°C in summer and - 20°C from
the freezing point in winters. What is the difference between
both the temperature.

(a) 40°C (b) 30°C

(c) 20°C (d) 10°C

TSI | USH g | ATIAE 20° Afewad Bar § 991 30d g § arqHe=
fedieh ¥ -20°C | I1 ATIHM I ST TG HITIT |

(@) 40°C (b) 30°C
(c) 20°C (d) 10°C
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Q.45

Q.46

Q.47

As per the 1961 census, 40% of the males were literate and
15% of females were literate, According to the 2001census, this
percentage of males have increased to 76% and that of females
to 54%. Write down the percentage increase in the literacy of
females.

(@) 55% (b) 39%

(c)  94% d)  91%

1961 1 STRTUMET | G&Y 40% frfera qem Afeamd 15% fferd ot 1 2001 =1

SRTUAT & STTHR TEST h! W&l 76% TN AiGeAst St 54% & T |
Sa1gy Afeensll # ffard 2 1 gfaerd ferdn e ?

(@) 55% (b) 39%
c) 94% d)  91%

The price of branded shirt is double as compared to the price of
an ordinary shirt. How much amount he would pay equal to the
price of ordinary shirts to buy. 6 branded shirts?

(a) 4 (b) 8

(c) 12 (d) 16

T AUSE FHHS Tl HIFd THA HHS F T T 6 AUSE FHHS BRIGH

% foru 3§ forat T HHS & SRIeR Hed <A1 8 2

(a) 4 (b) 8
c) 12 (d) 16

In 2012-13 it was decided to build 30. 10 lakhs shelters for the
poor of village area. But only 24.71 lakh shelters could be built,
How many more lakhs of shelters need to be build?

(a) 2.39 (b) 3.39

(c) 4.39 (d) 5.39

TTHTOT &3 & TRIe @ & faT 2012-13 | 30.10 TG SAETE I 61 AL

@1 T | ] R/ AT 24.71 @ & 949 9T | fohad o o7em 23R
CRIER

(@) 239 (b)  3.39

(c) 4.39 (d) 5.39
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Q.48

Q.49

Q.50

In legislative assembly of a state, there are 68 constituencies of
MLA's. Various political parties won elections of legislative
assembly in 2003 and became MLA's. For any party, to
establish government in that state, how many MLA's should be
there to form majority ?

(a) 32 (b) 33

(c) 34 (d) 35

et T 1 faem @ § faumet & 68 fratm &9 €, fafu= aifas

Talt 1 2003 § faem qwn g Sidr 3R 9 faumees o= 7 ) Jaree fw e
+ff T 1 3H T H THR 991 & g foha faumees o1 sgad =y |

(@) 32 (b) 33
(c) 34 (d) 35

The hours of the non - economic domestic activity of women in
Haryana are 30 whereas it is 35 hours in Tamil Nadu. In the
same way the hours of wages supported activities of women in
Haryana are 23, whereas it is 19 hours in Tamil Nadu. Write
down which state has a greater difference in working hours of
domestic and working women.

(@) Tamil Nadu (b) Haryana

(c) BothA&B (d)  None of these

TR # fi & STafTen SRe) M & o 30 | Sefeh qrHerrg | 35
T ¥ 1 38 YR gfamn # forl & 37 |ied e & w23 g A
AT H 19 W= ¥ | IaRY fhd T4 H =Re] 9 HhIHbTSH Higansii & =i
H aiferen ol ¥

(@) dfHerrg (b) =R

5

() i (d) T

Mid-day meal is given at 11 O'Clock in school. There are four
periods before lunch. What will be the time of mid-day meal if 5
minutes are reduced from each period in winters?

(@) 10.00 AM (b) 10.20 AM

(c) 10.40 AM (d) 10.50 AM
forner # fre-< Wia 11 o fietar 81 &9 § I8 91 1o 2 § | |ieE

T Y eyl | 5 e 19 w23 9§ fae-2 el =1 999 =1 8 ?
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(a) 10.00 AM (b)  10.20 AM
(c) 10.40 AM (d) 10.50 AM

Q.51 Sudhir walks out of his house and goes 2 kms to East. Then
1 km to South and finally 3 kms to west direction. Now which
direction does he need to turn to go towards his house?
(a) East (b)  West
(c) North (d)  South
YR o0 =R G 2 forell v, fRe ) foredt Sfior qen 3 forelt afvem foem =6t

3R HF S ¥, 376 3H ST TR h WE 9 & ot forg fawm =61 oiR

el BT |
(@ T« (b) Ufy=m
(c) =W (d) sfeqo

Q.52 Radha's school is towards north direction from her house and
her friend's house is in East direction. Radha's house is in
between. Write the direction of Radha's house.

(a) East (b)  North East
(c) North (d)  South East
T T The! B H I S T SR 7 AR I39! Feell 1 =X 4 faen &t

3TR | T T =R TR | gl § | A1 o =R 1 90 Farzu |

(@) T (b) ST
(c) SW (d) =feord

Q.53 Kumud wakes up at 5 O'Clock sharp in the morning. At 6.30,
she catches bus to go to her work place. She reaches her work
place at 8.00 a.m. How much time does she take to reach her

workplace?
(@ 2hrs (b) 1hrs
(c) 1%hrs (d) ‘hrs

FHHS g 5 91 S T 1 6.30 T 98 FHATd oM & T 979 yehedt ¥ |
8.00 TS I HTATT Ugd Sl € | FARY I wEierd o § fohawn a9
M ?

(a) 27w (b) 1w
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Q.54

Q.55

Q.56

(c)  1.30 5w d) YhEua

On the occasion of Independence day celebration school
distributed 100 gm sweets to each student. If there are total of
100 kgs of sweets in school. How many students were given
sweets?

(a) 2000 (b) 1500

(c) 1000 (d) 500

foremera ® w@dsn foaw IR W Y& 915 &1 100 7 e <t Wi | afe

faemera § 100 forenum faerE sl =t a1 9arse foran se=ii 1 fHarE <t
TS ?

(@ 2000 (b) 1500
(c) 1000 (d) 500

There is a garden of mangoes in Shiraj's grand father's place.
When Shiraj tried to sort the fallen mangoes, he observed that
every third mango was ripe. If there were 1800 mangoes in total,
then what were the numbers of ripe mangoes?

(a) 600 (b) 800

(c) 1000 (d) 1200

FIUST & 71 & 28T 3T o1 9 ¢ | F9Us 3 <1 911 | 22 3THi ol 3T

foran @ @ B A ST TRt 33T § | IS Bt I 3TH 1800 & Tl Teh I
& HEAT FART |

(a) 600 (b) 800

(c) 1000 (d) 1200

Anjali threw three arrows on the board. What cannot be the
score of Anjali from the following.

(@ 12 (b) 6

(c) 9 (d) 13

A9t ¥ TR 98 W 9 IR 9,

IHh TR 1 AN 570 O 1 T2l B Fehdl ? (;D
(@ 12 (b) 6 >
(c) 9 (d) 13
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Q.57 Abdul read 6 books, Sujaan read half the books read by Abdul.
Sweta read one extra book than the books read by Abdul. How
many books did Sweta read?

(@ 2 (b) 3

(c) 4 (d 5

3TgA 1 6 &Ik UG, YT A eTsgcl kit T T&ih IGH | Lokl 4 Yo 9
T Afeeh T&ih Ue! | IarsT vodl A fohat e el ?

(@ 2 (b) 3
(c) 4 (d) 5

Q.58 In the year 2008-09, 1410 students, took admission in a school
wherein 750 were boys and 690 were girls. In 2009-10 the
number of students in school increased to 1550. Out of which
730 were boys. How much did the number of girls increased?
(@) 110 (b) 120
(c) 130 (d) 140
T faeme™ | 9 2008-09 H 1410 S=di A grferen foran, fSad 720 @gs

T 690 TTSfRAT o | 2009-10 | foremera § famnfel=i st =2 1550 1 74T,
e 730 @IS 9| IART TSRl i T | Hel fohat (g s 2

@) 110 (b) 120
() 130 (d) 140

Q.59 In a school annual function, 58 dozen bananas, 30 dozen
oranges and 500 fruits cakes were given in a refreshment to
students. Which of the item was the most used.

(a) Banana (b) Orange
(c)  Fruit-Cakes (d)  None of these
Teh Tl & HIa ol § Jedl o STeIRR & foll 50 i hel 30 T

TR 3R 500 e ek U T | TR T <A1 T fhg a%q i off ?
(a) el (b) waq
(c) WheH® (d) =@ =E T

Q.60 In a factory of readymade Garments, there are 225 women and
125 men who work there. Women produce 450 pieces a day
while men produce 375 pieces per day. Write down who
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produce more pieces a day individually? A man or a woman?
(@) man (b)  woman

(c) both (d)  None of these

e TRA= &1 U hae! H 225 AfeA 9 125 T&Y & & § | Higemd
T feT § 450 119 TR Tt ¥, Selfeh &9 375 19 TR L § | SRy
g =fe dfecnsti o gEui | &M ifis T TR & § 2

(@) TI&9 (b) A

(c) <M (d) =T q wE T
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QUANTITATIVE

(ANSWER KEY)
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Q.1

Q.2

Q.3

Q.4

QUANTATIVE PASSAGE BASED MCQ

Passage No. |

Distances covered by different modes of transport and the time
taken by them is recorded. Study the given table and answer the
following questions:-

Mode of transport | Distances Covered Time Taken
(M) (Minutes)

Walking 400 20

Cycle 1000 20

Car 5000 25

Bus 5000 10

Express the speed of bus in Km/hr.

(@)  3km/hr.
(c) 60 km/hr.

What is the ratio of speed of car and cycle?

(b)  30km/hr.
(d)  11km/hr.

(@ 41 (b) 1:4
(c) 952 (d) 25

Which mode of transport has the fastest speed?
(@) Walking (b) Cycle

(c) Car (d) Bus

How much distance will be covered in 1 hour while walking at
the same speed as given above.

(@) 1000 m
(c) 800m

(b) 1200 m
(d) 1400 m

fafsr= Arara & |eE N T & T O IR 3T A o e 99
et s drferent | erien o €1 <t 78 difersht & sER w1 weA %

IWT
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TATATE T |IEA | 9 ki T8 g1 o T v
(Hi=Y) (fo2)

I 400 20

rsferat 1000 20

FR 5000 25

59 5000 10

o 1 =T ToRtlo/sIeT § et e |

(@) 3 fRHb/m (b) 30 feRHte/=ia

(c) 60 fRHlo/eaT (d) 11 foRHte/=i

FR 3T TIEfhet St =Tt 1 STIUT =1 I 2

(@ 4:1 (b) 1:4

(c) 5:2 (d 2:5

o ardrETd & e 1 SAfaRdd =9 § 2
(@) Y= (b) wmEfEa

(c) =R (d) ==

e Jord g T = H fohal g 731 i et Afe Yeet =er i =t <
TS dIfeteht & STER & |

(@) 1000 H&X (b) 1200 HieX
(c) 800 HieX (d) 1400 HieX
Passage No. I

At a particular place, maximum temperature during day was
recorded for one week continuously and was depicted in the
graph as shown. Read the graph and answer the following
questions.

24 Class_VII_PSA



Q.1

Q.2

Q.3

Q4

40+

39 +

37 4+

36 +

Maximum Temperature (°C)

354

St + + 5 & 3
=
Which was the coldest day?
(@) Monday (b)  Tuesday
(c) Wednesday (d)  Thursday
On which day was the maximum temperature 38°C recorded?
(@) Sunday (b)  Monday
(c) Tuesday (d)  Wednesday

What is the difference between the maximum temperatures of
Sunday and Wednesday?

(a) 4°C (b) 3°C

(c) 2°C (d) 1°C

On which two days was the maximum temperature same during
the week?

(@) Sunday and Thursday (b) Sunday and Saturday

(c) Tuesday and Friday (d)  Monday and Friday

T ffY=d M | TR & 9we fod & 999 Ay auae fere
foran T @R = fou T wre § g9t T W deed T e % SR
=4
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40+

39 +

38 +

JAfereRaw ATIHT (°C)

37 4+

36 +

354

DI
e L
IRAR
e L

it

a9 3e1 fed o a1 o1 ?

(@) dHER (b) TITER
(c) F¥eN (d) dEm
forg fea1 rfrenam aramm 38°C Rt fovan T
(@) oer (b) MR
(c) HTeER (d) d¥er

e iR JEER & stfeehan aIa™ & s fohdaT 7R €2

(@) 4°C (b) 3°C

(c) 2°C d) 1°C

TTg o QN o &1 o a1 SAfesha qroe |9 o |

(@) R IR FRAR (b) IFER 3R TfaR
(c) TTHER 3R YEhaR (d) EHaR 3iR YHar
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Q.1

Q.2

Q.3

Q.4

Passage No. Il

In the recent decades, the forests of Himalayas have been
exploited in many ways. At less than 1000 metres of height hot
climate and quantity of rainfall are its features. Sal and Bamboo
are famous in these regions. Between the heights of 1000m to
2000m, evergreen forests are found which includes oak and
chestnut trees between the heights of 1500 onto 3500m in
Himalayas, humid subtropical forests are found in the regions
which receive annual rainfall from 100 to 250cm. Birch, silver,
Devdar are found at the height of 3000 m to 3800m.

At what height of Himalayas, hot climate and quantity of rainfall
are its features?

(@) 1000 (b) 2000

(c) 1500 (d) 3000

At what height are the evergreen forests with wide leaves are
found?

(@) 3000-3800 (b)  1500-3500

(c) 1000-2000 (d) less than 1000
Humid subtropical forests are found at which height?

(@) 3000-3800 (b)  1500-3500

(c) 1000-2000 (d) Less than 1000

What is the annual rainfall at the height of 1500 to 3500m?
(@) 50-100 (b) 100-150

(c) 150-200 (d) 100-250

Tt o TR § e alient ¥ fedrer™ & o=t o1 9T fRa e 1000 Hiex
Y FHY S TH ST F T60 ht AET SERT A8l €1 39 & H 9re o
SF THE T1 1000 HX F T TR HeX F 396 & o= TSERR a7 914
ST 7| S ofe 9 =ede 9ol 94 7| feme # o1 st a9 1500 9
3500 1 Sd1E W 100 T 250 TH Y afeieh ot U A aret &t § I
ST & 1 o, feer, T9-R 3000 ¥ 3800 HieX shi S=TE WX 411 I € |
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Q.1

Q.2

ferrer 1 forg SaTE qh Sorarg T o 99 ki A $HehT T et § 2
(a) 1000 (b) 2000
(c) 1500 (d) 3000

TS Tt Tl HSTeeR 94 R = deh 9T S71d © ?

(@)  3000-3800 (b)  1500-3500
(c)  1000-2000 (d) 1000 & %A
3g 3o o ford S T 91T 9§ 2

(@)  3000-3800 (b)  1500-3500
(c)  1000-2000 (d) 1000 & %A

1500 T 3500 HII ! TS H dNftieh ool h! HIS a8y |
(@)  50-100 (b)  100-150
(c)  150-200 (d)  100-250

Passage No. IV

About 3/4 part of the earth is covered with water. It is found in
various forms. including 97.3% as oceans, 2.0% as ice, 0.68%
as underground water, 0.009% as freshwater lake, 0.009% as
salty lake, 0.0019% as water vapours in the atmosphere and
0.0001% as running water in the rivers.

How much more is the quantity of underground water from the
river water?

(@) 0.7799% (b) 0.6799%

(c) 0.5799% (d) 0.4799%

What is the total quantity of water in the form of ice and water
vapour?

(a) 4.0019% (b) 3.0019%

() 1.0019% (d) 2.0019%
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How much less is the quantity of salty lake water from that of
ice?

(@) 2.009% (b)  1.998%

(c) 4.009% (d) 5.009%

What is the total quantity of water in the form of water vapour
and fresh water lake?

(@) 0.0109% (b) 0.0108%

(c) 0.0107% (d) 0.0106%

Yot 1 T 1 dH SIS 9T 9Tt 9 @ohl § | S9H Her@rR # 97.3 wfavm,
TP % &9 H 2.0 Gfawrd, YT ST o €9 7 0.68 Fawrd HiSl el & €9
H 0.009 Yfqerd. T9HA el & €9 |, 0.009 Yfq¥wd. aRHISH H Serarsy
0.0019 W derm Afeai & &9 | sedl st 0.0001 Fawd T

fiTa STt AfEl & Stat 9 foran siferes &2
(@) 0.7799% (b)  0.6799%
(c) 0.5799% (d)  0.4799%

I o ARATSH i STerary ety feraar o 7 2
(@)  4.0019% (b)  3.0019%
(c) 1.0019% (d)  2.0019%

AR el § 9% & ®9 H 9 § fran A ® 2
(@)  2.009% (b)  1.998%
(c)  4.009% (d)  5.009%

ATy & HiS el o €9 H Hel fha! A Se i
(@)  0.0109% (b)  0.0108%
(c) 0.0107% (d)  0.0106%
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QUANTITATIVE PASSAGE BASE

(ANSWER KEY)

Passage |

1. (b)

2 (a)

3. (d)

4 (b)
Passage Il
1. (c)
2 (c)
3. (b)
4 (a)

Passage lll

1. (a)

2 (c)

3. (b)

4 (d)
Passage IV
1. (c)
2 (d)
3. (b)
4 (@)
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Q.1

Q.2

If 11, 14, 19, 26, 35 is in the series, then the next term is :

a) 46 b) 42
c) 48 d) 40
afg 11, 14, 19, 26, 35 Teh oA U &I, AT SWTEIT WEAT 9T B0 ?
a) 46 b) 42
c) 48 d) 40

The mirror image when X,Y denotes the position of mirror is:

Ife X, Y g9act <99 & df 1 o st sramegfd sarsi |

@) (b)

(c) (d)
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Q.3 The sum of mean of first 103 natural numbers and first 107
natural number is:
(a) 105 (b) 106
(c) 108 (d) 109
T 103 qAT T 107 UTehed AT oh LT SRl JNT SaraA |
(a) 105 (b) 106
(c) 108 (d) 109
Q.4to5 In given triangular figures, observe the pattern then answer
the following questions o ]
T AT sTrepfceil & o9 < T8 AU T fomie i ol & |
TR ot T € | 36 ufgd &1 &aH § et f991 991 o 3R gI-
3
5 A 4
14 19 11 16 9 13
Q.4 The value of (A+B) - (A-B) is
(@ 1 (b) 5
(c) 18 (d)‘ 20
Ife (A+B) - (A-B) T T 10 HU-
(a) 11 (b) 5
(c) 18 (d) 20
A-B .
Q.5 The value of—A+B|s
@ 1 (b) 2
3 3
(© -1 @ -3
3 2
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T 5. A-B T |19 =aqreql

A+B

@ 1 (b) 2
3 3

() -4 (d) -3
3 2

Q.6 to 8 From the given figure answer the following questions
Y T3 ol HHATH G HEAT 6,7 91 8 o SW aI-

B 5
8 144 64 3
5 169 A 1
7 2

Q.6 The value of B-Ais:

(@ -5 (b) 5
(c) -121 (d) 81
B-A =T 9 o131

(@ -5 (b) 5
(c) -121 (d) 81
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Q.7 The value of A-B is

AXB
(@ 7 (b) 36
36 5
() 5 (d) 36
36 7
9.7 A-B 3
maﬂqﬁaﬁﬁ.
(@ 7 (b) 36
36 5
() S5 (d) 36
36 7

Q.8 The Value of A+B is:
A

(a)

©
G
©o|3

13

(c) 9 (d) 17
12 12

a8 'X’Baﬂnﬁaﬁ%‘m

(@ 9 (b) 13
13 9

() 9 d) 17
12 12
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Q. 9to12

In the given figure triangle ABC is an equilateral triangle in
which AD is its median ZMDA = ZNDA , BP =BD and CD =
CQ Answer the followings questions.

A fed -

st ABC U gHag 319t ®, AD mifeaent &1 /MDA =/NDA |
BP =BD da CD = CQ ¥ | f1=1 uv+i & S| 2|

A

B D C

Q.9 y which congruence criterion A ADB is congruent to AADC.
a) Side - Side - Side criterion
b) Side - Angle - Side criterion
c) Angle - Side - Angle criterion
d) Right angle hypotenuse criterion
All the above

)
T9.9 AADBamAADCaﬁwﬁwwawr{wﬁl
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Q.10

Q.11

Q.12

Q.13

Which Criterion is used to prove the congruency of AMDA

and ANDA
(@) RHS Congruency (b) ASA congruency
(c) SSS Congruency (d) None of these

9t AMDA & ANDA # HaiTasar 1 i 91 {9 o 2|
(@) FHRIV-HU T FATEHIA  (b) HIU- ST IV FARTHHA
(c)  ST-YST-Y[oTl HEHdl  (d) TTH | g T

By which criterion ABPD and ACQD are congruent
(@) SAS Congruency (b) RHS Congruency
(c) SSS Congruency (d) None of these

ABPD @ H A CQD & HalTawdl 1 shi= |1 72 &r] 2 7 |
(@)  ST-hIV- ST HANTH

(b)  HHRIUI-HTI- ST FATTHA

(c) ST oMl- YoM Heargwa

(d) T ¥ FE TE

If AM <BM, then find the type of triangle AMD
(a) acute angle triangle

(b) Right angle triangle

(c) Obtuse angle triangle

(d) None of these

AAMD ¥ R 1 19t 2 9fs AM < BM @1
(ORECGEINRE S (YESEEILRERS]
(c) sIftrw v st (d) T8 & I8 Tl

A fruit seller sells 10kg Guava 18kg Mango 11Dozen Banana at the
rate of Rs. 25/Kg, Rs. 50/kg, Rs. 40/ Dozen respectively. After
selling this he divides selling price to his three daughters in equal
amount find how much amount does each daughter get?

(@) Rs. 540 (b) Rs. 450
(c) Rs.350 (d) Rs. 530
Teh % fashdl 10 fhainm sTEg, 25% Wfd fhaiuma i 2 18 fohatmm

314, 50 % Yfd forciium ol <X & T4 11 TSI el 40 T 9fd TS i X
Y =R e o T w1 1o i gl § sRIeR-sReR dtedn g1 @
AT ST Yk T 1 Fe Teva w93 Tiyer 2
(W) 540% (§F) 450 %
() 350% (S1)530%
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Q.14 In a bag of student there is a book of each subject Hindi,
English, Mathematics, Social Science, Home Science and
Sanskirt. A book is drawn randomly from the bag. What is the
probability that book drawn is a Mathematics book.
(@ 1 (b) 2
7 7
(c) O (d) 1
Y14 TH B S o9& e, 240, nifra, wmtses fomm, fomm, ue foqm
T FEhd fawl bl Toh-Teh Tk © | 91 9 AGSAT Teh Tk (IahTeit
S ¥ | 39 YAk 1 TIOMT S &Ik &I hi WTTaehdl a1 BT 2
(@) 1 (b) 2
7 7
(c) O (d) 1
Q.15 to 20

In figure, if rectangle represents males, triangles represents
educated, circle represents urban people, square represents
civil servants. Answer the following questions according to
given figure.

ez o fos § emaa g, e fifera safeadi, ga wed < qen ant
eTafeh Jeehi I YEfid w1 g1 39 fad & SR W T9F 15 ¥ 20
T & T o S Qi |

AN

8 |12 6 |13
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Q.15 Who among the following is neither a civil servent nor
educated but is urban people.

(@) 15 (b) 13
(c) 12 (d) 16
1 5 ¥ &H A1 Iemafes a9 § &R 7 ffaa feeg o el 7
(@) 15 (b) 13
(c) 12 (d) 16
Q.16 Who among the following is an educated male, who is not an
urban resident?
(a) 4 (b) 11
(c) 12 (d) 6
=1 & 9 frfera gew €, < s T 21
(a) 4 (b) 11
(c) 12 (d) 6
Q.17 Who among the following is a female urban resident and also
a civil servant.
a) 6 (b) 7
c) 10 (d) 13
7 # ¥ F S e wed 9 gt dee § 2
a) 6 (b) 7
c) 10 (d) 13
Q.18 Who among the following is male civil servant. Who is neither
educated not belongs to urban area.
(@ 7 (b) 4
() 9 (d) 13
e ® @ i stiforferd e yemafte Yas S IRl & | T
(@) 7 (b) 4
(c) 9 (d) 13
Q.19 Who among the following is uneducated urban male.
(a 11 (b) 12
(c) 14 (c) 6
= | § wiF Affera wed ey § 2
(a) M (b) 12
(c) 14 (c) 6
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Q.20 Who among the following is only a civil servant but neither
male nor urban oriented.

(@ 7 (b) 8
(c) 9 (d) 14
= § A B gemafTes doe g Te € R wed ot T ¥
(@ 7 (b) 8
(c) 9 (c) 14
Q.21 Fungi shows which mode of nutrition
(a) Heterotrophic (b) Autotrophic
(c) Parasitic (d) Saprophytic
ek QIoon 1 shiA E fafy gwifar §-
(T) foromrsit (&) TSt
(9) wasiet (2) Hasiret

Q.22 Select odd one out:-
(a) Formation of manure from leaves
(b) Rusting of Iron
(c) Condensation of steam
(d) Setting of curd.

Ty foeheq =1 giT-:
(W) dfwEl 9 ©E &1 o (3f) @R 1 S T
(&) o9 1 e (S1) <&t 1 A
Q.23 In the process of digestion saliva breaks down the following
into sugars-
(a) Starch (b) Proteins
(c) Carbohydrates () Fats
qreF foran & SR, aR T 8 9 fod ey # fiafda st B
(V) #E(VM) (&) 9
(dt) wreEEge () o
Q.24 In the absence of photosynthesis. Which is not correct.

(a) Lack of food for animals

(b) Death of plants.

(c) Excess of oxygen gas in the atmosphere.

(d) Excess of carbondiioxide gas in the atmosphere.
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Q.25

Q.26

Q.27

Q.28

TR Yool shi equfafd #, f= § @ &9 o1 wom 92 T B
(W) el & foa s 61 wH

(sft) el i g

() SR | e 9 i 2Afirehdr

(1) AR | HeerE RS 19 i STehd

Teacher explained natural and man-made indicators in the
class. Based on this knowledge, how will the students mark
the odd one out of the following:-

(@) Turmeric (b) Litmus
(c) Chinarose (d) Phenolphthalein

LTI A hel H Wehfaeh IR Aa HiHa ekl st SHeRT &F | 39 7
% YR R Ty YR foeneft = fau Tu fasredi =01 g |

() et (&) feremd

(1) TSee 1 Tq (21) frtamafes
Carbohydrate : Glucose :: Proteins

(a) Amino acids (b) Fatty acids
(c) Sugars (d) Glycerol
FIAEIESE: TeehrSl 12 WS -

(T) ST o7t (3) a0 1A
(|) =T (2Y) framra

Disposal of sewage is a great problem Suggest. which trees
should be planted near sewage ponds.

(a) Peepal (b) Eucalyptus

(c) Neem (d) Banyan

Afed A o1 T9eH Th ISt I T | GIET fohd TR & g4 afea
A I & R} IR T =1ed |

(v) W9 (&) Fehfered
(&) W () T

Chinarose indicator turns the colour of acidic solution to dark
pink. What will be the colour change in a basic solution?

(@) Red (b) Green

(c) Nochange (d) Blue
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Q.29

Q.30

Q.31

TEe B IO 1 oI S FAer Y T Taret H 31§ | AR

foeral 1 9% Yo | U1 H oeat Ta1 € 2
(W) o () 30
(5Y) ¥ S Tl (=) e
Liver: :: Pancreas :: Pancreatic Juice
(a) Bile Jice (b) Mucous
(c) Digestive Juice (d) Saliva
TR - 22 STIYY : SRR
() fmw CHREEG
() drEe ™ (1) @R
«—A

In the given figure of stomata, label A

(a) Guard cells (b) Stomatal opening
(c) Nucleus (d) Chlorophyll.

fqu T ¥y & o § A 1 MR ®U

(T) TAR FIRTERT (i) Tt gR

() w=eh (1) FAftha

A way to prevent soil erosion is___

(a) Allow rivers to flow without constructing dams on them
(b) large scale deforestation

(c) Plant more and more trees

(d) None of these
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Q.32

Q.33

Q.34

Q.35

T STIREA 1 Ak 1 Teh RIS GATAT ST Hehell §-
(v) for =iy s A 1 yors

() 3R TR IR =

(4t sifye 9 At g&1 e

(B1) 37H &+ T
Upper chambers : . Lower chamber : ventricles
(@) Veins (b) Arteries
(c) Capillaries (d) Atria
hE: :: Tl e < fieTe
(v) fem (i) et
(¥ft) Rif¥rehTd (1) erfer=
Sheep : Shearing :: Silkworm:
(a) Scouring (b) Reeling
(c) Sorting (d) None of these
HE : T i TS :: WH I Al :———————-
(W) srfymmsia () et
(¥f) B (1) 370 | *1E T

While educating the farmers, it was explained that manure
and fertilizers do not contain the following plant mineral

(a) Nitrogen (b) Potassium

(c) Sulphur (d) Phosphorous

fRTmI ! SRR T U I FIar 741 fof @ 3R 3ata | = § 9

HIF |1 TS TSk Tl I STdl-

(T) redrsH (i) drefirm

(E) Hew (2Y) wIERRY

Which of the following is not part of excretory system
(@) Heart (b) Ureter

(c) Kidney (d) Urinary bladder
= | F B S oF 1 femEn T 8

(V) =& (it) vt

(¥1) TR () TwE
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Q.36

Q.37

Q.38

Q.39

Q.40

The single celled organism which can survive in the absence
of air-

(a) Bacteria (b) Fungus

(c) Algae (d) Yeast

Tk HISTHIF Sid S a1 i STureefa § Sfeaard T Tehd &~
(T)  Sfamy (i) ereh

() e (€) A

Leaves of a young plant were withering in the hot season.
Gardener remarked it was due to excessive loss of water
from the surface of the leaves, which is called

(a) Condensation (b) Evaporation

(c) Transpiration (d) Liquification

Teh T 91eY i gfal T Arem | g Wi et | weft | gaqrn i 9%
ufll it T W STAMUH et S & HRU §, ST Hecldl 8-

(T) FoH () e
(&) arsdreEsH (€1) geltehLo
Cockroach : Spiracles :: Insects:-

(@) Skin (b) Lungs
(c) Gills (d) Trachea
IR : JATAH 22 hiS ¢ -

(W) o= (sit) BwHe
(§t) FH (€1) ok

Select the odd one out.

(@) Potato

(c) Bryophyllum
Ty faesheq =1 -

(T) &g
(E1) smEhe

Bolls : Cotton :: Burrs : _

(a) Silk
(c) Wool

v
A g 2z We-

(W) WM
() A
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(b) Ginger
(d) Rose

(i) 31eTh
(St) et

(b) Jute
(d) Nylon

() e
(B I
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Select the correct answer from Q.No. to

w& famen g
Q.41 Aryavart : Jammudweep :: Bharat Khand :
(a) Pakistan (b) Hindustan
(c) Nepal (d) Bhutan
ST : STHEMY @2 9T U :
(W) difheaH (i) fege™
(dt) et () g
Q.42 Praknit : Pali :: ------- Hindi
(a) Sanskirt (b) Urdu
(c) Bangla (d) Bhojpuri
IR ¢ ATl 22 e :fe=<
(©) T (s 5§
(&) e (1) T
Q.43 Golden Temple: Amritsar:: Kutubmeenar : ........
(@) Varanashi (b) Lucknow
(c) Delhi (d) Agra
0] AT ¢ ST 22 FIAHAR 2o
(T) =mrorEt (&) TETs
(dt) feeedt (1) s
Q.44 Islam concerned with Quran Shariff then Hindu Concern
with....
(a) Gita (b) The Guru Granth Sahib
(c) Bible (d) Panini
TEATH 1 HaY FIRE § T 0 fog &1 day
(T) e (sft) TT% U wifes
CGDEEHES (1) wfort

Q.45 The four parts of Temple.......

(a) Entry Gate (b) The main hall
(c) Garbh Griha (o)

(a) Roof (b) Shikhar

(c) Veranda (c) Pharsh
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HiT & =R 91T

(%) YA R (@) &I 941 oA
(M wHu" )
() =d (@) ferer
() oW (91) Il
Q.46 If '"Aab' is related to water then population is related .....
(@) Population (b) Kisan
(c) Producer (d) Soldier
Ifs ‘3T’ 1 Gag I 9 ¥ Al STERT S FAY
(W) SHEE () foram
(&) IaEH (1) A7
Q.47 If Shah Jahan built "The Red Fort" then Akbar built .....
(@) Shalimar Bag (b) Gol Ghar
(c) TajMahal (d) Buland Darwaja
3TR YMESTel o g1 HiHa ‘ ecferen’ df steher g1 HHT ...
(T) VAR &1 (&) et =R
(&) are Hed (2F) gog @
Q.48 Television : Eye :: Radio : .......
(@) Mouth (b) Nose
(c) Ear (d) Neck
fafasm : ot o e ..
(0 98 (=) 7
(&) =wm (S1) TTem
Q.49 The manner in which a business bartering of goods is.......

(@) Money Exchange (b) Item - Exchange
(c) Business Exchange (d) Debt - Exchange
SATIR <1 1= |1 U@ &1 FSrs sreqeil shi 3Tgetl sieell i Sl -

() ¥ fafma (sft) =g fafma
(Tt =R faftag (81 sur faftma
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Q.50

Q.51

Q.52

A program in which poor children provided free school lunch
at noon.....

(@) Morning Meal (b) Dinner

(c) The Mid-Day Meal  (d) Midnight Meal

T U1 i % FS9H whe & e el Bl g H Sr9e Rl WISH
SUCTS AT ST B

(T) Yrd: e HrsH COKEIRIEE]

GO EEEISE ECOEIZNEIRISE]

Read the following article and answer the question-

King cannot work without soldiers. Soldiers cannot live
without pay. Salary comes from the revenue collected from
farmers. But the farmer will be able to repay revenue when
they are joyful and happy. This could happen only when the
honest just administration is promoted by the kind. Which is
the link in the above paragraph.

(a) King Soldier

(b) Soldier - Salary

(c) Farmer - Revenue

(d) Justiceful King and honest administration

1 e ®e @t ufew dem faw ww wew & s v
TS 1 e et & fomr 61 e Tonar | fe 9qq & fomr @ St
Hehell | a7 foraml ¥ Tefa fru o Toa | o7 ®1 wife foram
ToTEa a1 Hehil 91 o GRIEA SR 99 B | UE a+ft & TRl §
el ST =AY 9 MR Y9TEA 1 98l < |

SR =< H ®H ° Fel eyl ¥
(W) = - S (&) Efw - 9=
(&) foam - o= (2 T =IEafyg 9 SHFER Y9mEA

Why a shoe shine refused to collect the money thrown to him

"Film Deewar".

(a) Because it could hurt the coin dispose.

(b) Because coin be dirty by dust.

(c) Because the boy likes to clean.

(d) Because of the dignity of his work and payment must be
made with respect
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Q.53

Q.54

Q.55

Q.56

fthen SR § S Wiferst 3 aTel Tsh aTgehl %heh e fau 7T 39 =i

3o § HT THR L Il B

(W) Hiifeh 3T Hehert feT 7T b | =i o Tehal 1

(Sft) Riifer foespt ga-fiedt 9 7T 8 ekl §

(Ft) Hiifehr g I A T T8 T

(2) Hifeh WS HM HITT T TRAT § AR TAH TS & W fohan
ST =T |

Municipal corporation :........:: legislative Assembly: Member of
legislative assembly (M.L.A.)

(a) M.P (b) Leader

(c) Corporation Councillor (d) Prime Minster

TR e o f9uE 991 fouEs (T TET)

(V) Hwe (sf) =¥

(&) frm amie (=1) st

Which of the following pair is wrong
(a) Earth Quake - Vibration

(b) Land slide - Ice storm

(c) Tsunami- Waves

(d) Cyclone - Storm

IR few 7T S § iF | e §-
(F) b - FIF (@) Y- - THRI HH
(1) A - A (91) <ehard - &M

Which is the following is the correct pairs

(@) Chinuk - Grass field (b) Weld - Native American

(c) Red Indian - HotAir (d) Johanswarg - Golden capital
ST feu T e | o w9 %

(v) foge - "™ & i|HA () o€ - Wi qa
() e 3fe - T zan () Shererent - et st

Meaning of sial is silica and alumina then the meaning of sima
IS .o

(@) Silamali (b) Simamali

(c) Sulphar-Magnet  (d) Silica Magnesium

3R Tt o1 o1ef faferent @ TogH & of il &1 a1ef ...

(v) foommre (=it) Hr Heft
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() Gewm-THe () fafeent - T

Q.57 If igneous - Granite then Sedimentary be......

(@) Marble (b) Slate
(c) Baisalt (d) Lime - Stone
R AT - Y1EE Bl Al STEEE]....o....
(W) HEe (&) =i
(%) s (1) T - TR

Q.58 If the Taj Mahal is made of marble then Red - Fort is made
of.......
(a) Red Rock (b) Red sand stone
(c) Red Brick (d) Red clay
3R AeTHES TR | o1 § O eATetfhen fonad o1 -
(T) e e (St) AT STt qeark
(&) o g2 () et faegt

Q.59 Which of the pair given below is wrong-
(@) Tuka Ram - Madhya Pardesh
(b) Purandar Das - Andhra Pradesh
(c) Narsi Mehta - Gujrat
(d) Mira Bai - Rajasthan
e feu T Sie | S o1 Terd B

(T) o1 TH - 7L TS (+f) TR I - Y I
(&) 7 Hgar - e (S1) 7 918 - TS

Q.60 Which serial is not a reality show
(a) BigBoss (b) D.I.D
(c) CID (d) Kaun Banega Crorepati
T § M 9 3 Rafae o 78 B
(v) famrdrg (s) €T . 1.
() i 1. 2t (ZY) M T HASA
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10.
13.
16.
19.
22.
25.
28.
31.
34.
37.
40.
43.
46.
49.
52.
55.
58.

11.
14.
17.
20.
23.
26.
29.
32.
35.
38.
41.
44,
47.
50.
53.
56.
59.

Qualitative
(Answer Key)

12.
15.
18.
21.
24.
27.
30.
33.
36.
39.
42.
45.
48.
51.
54.
57.
60.
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Qualitative
Passage Based MCQ

l. Heat from the sun cannot reach the earth by conduction or
convection because both these processes require a material
medium like solid, liquid or gas to transfer heat. Heat from the
sun reaches on the earth by the process of radiations. The sun
emits heat radiations in all the directions. These heat radiations
travel through vaccum and reach earth. When the suns
radiations falls on the earth and its objects, they recieve heat
energy and hence get heated. The best example of radiation is
when we come out in the sunshine and we feel hot. This means
that the heat from the sun is being transferred to us which
makes us feel hot the amount of heat which an object can
absorb by radiation depend upon the color of the object. The
objects having dark colors absorb more heat radiations than the
objects having light colors.

1) Heat from the Sun reaches on the earth by the process
of:-
a) Conduction (b) Convection
c) Radiation (d) All of these.

2) Which statement is incorrect regarding transfer of heat.

a) Conduction requires material medium

b)  Convection requires material medium

c) Radiation requires material medium

d) Radiation does not require material medium

3) Heat radiations from the Sun reaches earth through.
a) Air (b) Water
c) Clouds (d) Vaccum
4) Suman is carrying a pink bag and a black umbrella. while

Ritu is carrying a white bag and a yellow umbrella. Which

object will be heated the most.

a) Pink Bag (b) Black Umbrella

c)  White Bag (d) Yellow Umbrella
T | SO A A G g YA WG Ugd Wehdll ek 3 QM Ufshansd §
SO 3 TR & folt Tk W1eam S8 39, a8 a1 719 i STevaehdr et & | 93 9
o7 fafertor gR0 gealt W agadt B 1 g 9t foems® § e fafeso o1 s
HIAT T I8 I fafrior Serm (wrelt se) & WeAw ¥ gedt W ugedt g1 o
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g4 =t faferor gedt oIk 3Tkt segeti W ggdt & @ F ST ot W w7 IR
zafere T 2 S ¥ 1 fafwtor w1 wed st 3R § 99 g gu § ae’ ST § 3R
TH Heg® HI T 39HT o1 ¥ TR g | o1 areft v gud TMHaRd @ TE ¥
e SR gH T Hegw Bt €1 U ag fafeRtor gra foat s e st ©
g 9% & W W AR O T TR 1 Al axqe geh U1 i aEge i oTal
s1fereh SeHte fafeReor w1 sTareifoa st T

1.

gd & 3oT geelt we fera uferam e ugerdt &-
(T) =

() Haed

(&) fafexm

(BY) S gt

IOHT & TATATAROT & Fael | I | HeT Hel et o-
(T) 1ot ] TIEAH i a9l 2l |

(S) Hagd =l HIeqq hi Al Bl € |

(&) fafewor 61 ey 1 STevgehar Bt B

() fafertor 1 ey &) eggehar T2 Bt B

o & Iwiter fafertor femm Tmeam gRT geelt den ugee &
(W) =

(&) <«

() e

(21 R (@ SE)

HHA Teh TEATST ST ST ST BTAT o ST V@l ¢ Selfeh [ Teh H%g
AT 3R UTEAT BTAT & S T& § | i 6 q% T (e T &
STt ?

(T) st s

(1) whret B

() Fhg o

() e s
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If the food is not covered properly or preserved properly then it
gets spoilt by the action of microorganism such as bacteria and
fungi on it. Microorganisms that grow on our food sometimes
produce poisonous substance. The food spoiled in this manner
starts giving foul smell and bad taste, Its colour may also
change. If such a food is eaten, it will lead to food poisoning .
The major symptoms of food poisoning are vomiting, diarrhoea,
pain in abdomen, headache and fever. Food poisoning can
cause serious illness and even death. The microorganism which
cause food poisoning come in to food from the air, dirty hands,
unclean food, containers, flies, insects. The spoiling of food is a
chemical change. We preserve food to prevent it from getting
spoilt. Some methods for preserving food are sun drying,
heating, cooling, deep freezing, addition of common salt,
addition of sugar, addition of mustard oil and vinegar.

Food can not be preserved by:-
a) Heating

b) Addition of Sugar

c) Deep Freezing

d) Keeping in open space

Symptoms which show that food is spoilt are:-
a) Foul smell in food

b) Change in colour

c) Bad taste

d) All of these

Which of the following is not a chemical change.
a) Burning of paper

b) Evaporation of Water

c) Spoiling of food

d) Cutting of brees.

While coming from the school Ravi insisted his mother to
buy fruit chat from a street hawker. His wise mother
refused and he started crying. What could not be the
reason for her refusal.

a) Dirty hands of hawker

b) Open Containers

c) Flies on cut fruits

d) Mother wanted Ravi to cry
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Ffq IS I 3ok W o1 A TR 71 A1 TXeqa A TR T & @ I gewshe
S SR $iR Faw w1 fha g Be 3 S § 1 gasha S AR W
R gig F €, Fi-Ff Fedol erd 9910 €1 39 We ¥ BE e g
3R BYE W@IE S Y H ol § | 3T T oft Sge o § 1 Afe T e
WA e e foomedar it 1 9eH ) faued & 9gE de §-
3, T, T2 <8, fR <€, gem| foumea e iR fouit oij A &
RO S Gkl § | Tomed S 3 aret 9% gemsia 9 8§ o 9, TS
T W, oTYg Ty fess &, ufereri 3R #1e § 31 T 1 e[ &1 BXE
BT Tk TEEHS IREd €1 @ Sl TUe 89 ¥ o= & fau g9 39
TIETd T ¥ | W IR @ WA & fole e ql ¥, SE- g9 H @,
M, I, T 38 H Wadl, 9 ST, =1 el 93E &1 da 3R
TaTehT STer |

it ford aiieh | A ara 7@l foRdl ST Wehar -

T) d9A CHEEREE
1) el 38 ° W (2Y) Feit ST | TEr
TTLTOT S 29T & Toh Wi @re 2 T -

W) oA H gl B (&) 41 H s
) TE @E EEEEREI
et ¥ | i 9 Tt uied T T8 e

T) N &l o (St) T R aTSHeRTOT
o) oo 1 ' B (S) S T e

Tehe! W T g IS 7 70t °f & Yeet W fiem et well ot =ne o
it Rag Y | ST THSER | & HA1 S U 9 T o | A S 0T
T hT ST HIUT T& & Hehdl-

T) WO S T By

) = T fes

) e gL Hal R AfReE

<) = I e = o
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The strong gravitational pull exerted by the sun and the moon
on the earth's surface causes the tides. The water of the each
closer to the moon gets pulled under the influence of the moon.

Gravitational forces also causes high tide. During the full moon
and new moon days, the sun, the moon and the Earth are in the
same line and the tides are, highest. These tides are called
spring tides. But when the moon is in its first and last quarter,
the ocean water gets drawn in diagonally opposite directions by
the gravitational pull of sun and earth resulting in low tides
These tides are called neep tides.

What is the reason of tide on Earth surface?
a) The gravitational force

b) Force of attraction

c) The repulsive force

d) Magnetic force

What are condition along full moon days of Sun, Moon,
Earth?

a) Allthree are in a straight line

b) All are in circular shape

c) All are in the shape of triangle

d) All three are not in a straight line

When the water is stain?

a) When the Moon is near water

b) When the water is away from the Moon
c) When the water is closer to the Sun

d) When the water is near venus

What are identity of spring tide?
a) When the tide is unchche / high
b) When the tide is low

c) When strong wind blows.

d) When temperature be very high
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SURTeRT TTEITYT ok MR WY FeAfetiad ugei o SO Sifeig-

T TG TSH % VIKIRIe [Eh I % HRU gL i Hag W
SHR-A1E 3 § | 5Ta geafl o1 STl =51 o fiehe Bi1 & 36 99 951
TEATRET 96 § Wol STFRfSd S €1 s R0 359 <R o gl
afTer T steeEn & foAi § g9, T ud gt o T Ee H 2 © eI

TH THF Hod 39 SR 324 ¢ | T SR 1 ged SR hed ¢ olfhd sl dg
I Yo Ud Sfaw =garet § 2 § @ g Ud g h1 [Ecrhs o o
fawia feensti § AeErRE @ W 9 § qRumM WEy 9 SR 9@

3T § VY AR 1 &Y SR #ed ¢ |

Yealt sht Tag WX SAR-HTe fohe ShoT € 31 72
T) e 9

) STRY I

) foersor o«

) g &

gfviar & fe=i & G, =guT Ua geat ot werfa o et &2
T) U gy o

dt) AR FA T

) Hys & TR |

) i T Hy H e e

et ARTeRi el BT &2

) & A 5 S e B €
o) SO A oS H G §

o) e o g & e A ¥

€)@ A g & e A ®

e SR ahl ST UgeT gl &7
T) e SR GOl S B ¥
o) e R oy T g
o) 9 a9 g 9 &l @ |
EDRECEE R R
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Women and girls now have the right to study and go to school.
There are other spheres like legal reform, violence and health.
Where the situation of women and girls has improved. These
changes have not happened automatically. People have
struggled to bring about these changes. This struggle is known
as the women's movement . Individual women and women's
organisation from different part of the country are part of the
movements. Many men support the women's movement as well.
The diversity, passion and efforts of Many men support the
those involved makes it a very vibrant movement. Different
strategies have been used to spread awareness, fight
discrimination and seek justice.

What is the right given to the Girls/Ladies now a days?
a) The right to go to school

b) The rights to go to the market

c) The right to go to the fair

d) The right to go the movie

What is the level of conflict of changes in the position of
Women.

a) The social level

b) At the individual level

c) Economic level

d) Conceptual level

Which area did not improve by female Aandoln?
a) Legal reform

b) Violence

c) Health

d) Dowry system

What makes Aandoln a vibrant women's movement?
a) Women's work

b) Truth

c) Cleaning

d) Integrity
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SUTYERT 9T ok YR W Ffafaa ueel < s Sifsa-

319 Afgened SR iRl il T 1 3iR Thet o &1 SAHR T1 7 &=

off ¥- S8 HT GUR & iR e, s arefedt oiR Afeensti =) feafa
IEM T T U UREA STU ST G AT T SIRAl 7 Al TR W IR
3o H faerert 37 afkad-i & fore gy fhu ¥ 1 37 et =6 afeen stdeH
T S | I AT 9RT § FE SR e Afeen SAGlerl 1 qHLA

FA ¥ 1 3T ARG B S AN bl Beed, fsar $IR 3Rt fagoa 38t
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T SR = B i & fau fa=-fa= woeifaar o1 som foan =)

AT G U eTgfeRal hl aRIT TR UTe &2
T) THo S H YRR
) SR S HT SRR
) Hel S 1 ISR
) fgam S 1 eifuer
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T) g TR W
o) HAfRT TR W
W)  effdes TR W
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o) @A
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Passage |
1. C

2 C

3. d

4 b
Passage lll
1. a

2 a

3. a

4 a

Qualitative Passage Based MCQ

(Answer Key)
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Passage Il
1.

2
3.
4
Passage IV
1.

2
3.
4

o o o QA

a
b
d
a
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English

Language Conventions

Passed Based MCQ.

Read the following passage carefully and select the most suitable
option to answer the questions-

the most precious thing and we cannot live without it.
1.

One day Akbar asked his minister, "What is the most precious
thing on the Earth?" One minister said, "Gold" the other said, "Diamond"
and the third one said "A good son or daughter". But Birbal said,
"Water". Every body laughed. After some days the king went for hunting
along with his ministers. He was feeling thirsty. Birbal brought a tray full
of gold and diamonds so that the king could quench his thirst. Akbar got
angry and asked for water. Thus Birbal made him realize that water is

The meaning of the word "precious” is

a) Valuable (b) Waste
C) Bright (d) Good
Complete the blanks -

i) Son : daughter :: uncle :

ii) King : ;2 boy : girl

a) Child  Children

b) Aunt  Queen

c) Son  Boy

d) Queen Aunt

Akbar was feeling thirsty.
What should be done to solve his problem?

a) Give him precious stones

b) Bring him his son

c) Get him back to his palace

d) Give him water to drink

The message of the story is-

a) Long live the king

b) Birla is clever

c) There is no alternate to water
d) Water is as precious as gold
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5. According to Birbal, "Water is precious". This shows his

a) wisdom (b) high 1Q
c) cleverness (d) love for water
Jupiter is planet in the solar system. No wonder ancient

astronomers named it after Jupiter, King of the Roman Gods. More than
1000 planets of the size of Earth could fit inside Jupiter. A tunnel
through Jupiter would be eleven times longer than a tunnel through
Earth. A trip around Jupiter's equator would take six times longer than a
trip around the Earth's equator. The great Red spot is the most thrilling
sight on the surface of Jupiter. The spot is twice as wide as the planet
Earth. Most astronomers think that the great red spot is a huge storm
that has been raging for at least 300 years.

6. Jupiter is planet in the solar system.
a) the bigger
b) biggest
c) the Biggest
d) very Big
7. The word "thrilling" can be replaced by
a) happy
b) exciting
c) interesting
d) encouraging
8. Find out the name of the king of Roman Gods.
a) Equator
b) Jupiter
c) Tunnel
d) Great Red Spot
9. The circumference of Jupiter is times bigger than that
of the Earth.
a) Six
b) eleven
C) twice

d) thousand

10.  Which word does not mean "Huge" ?

a) Large

b) Very Big
c) Fast

d) Enormous
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1.

12.

13.

14.

15.

16.

There are some mistakes in this passage. Read carefully and

rectify.

A man eater, tiger had become a terror in the area. It has 11. already
Killing 14 dozens of pet. animal, cattle three or four kids and some

women. The people 15 would shutting themselves in their homes as
the evening fell and would come out only in the brightness of the
day. The man eater had gobbled up all those who had gone out to
answer the 16 nature call. The rumours of the attacks by the man
eater and frightened voices 12 tiger were heard all around 13. There
is. only one subject talked about - man eater. That had made
sleeping impossible.

Which is the correct option-

a) It had already killed. b) It already Kkills.

c) It has already killed d) It is already killing
Choose the correct option

a) ‘tiger!tiger" B) Tiger' Tiger"

c) Tiger' tiger' d) "Tiger! Tiger!"

a) There had only one subject.

b)  There was only one subject.

c) There has only one subject.

d) There will be only one subject.

a) dozens of pet animals, cattle three or four kid.
b) dozens of pet animals cattles, three or four kids.
c) dozens of pet animals, cattle, three or four kids.
d) dozen of pet animals cattle three or four kids.
a) The people would shutted themselves.

b)  The people would be shut themselves.

c) The people would shut themselves.

d) The people will shutting themselves.

a) natures call b)  nature's call

c) nature calling d) nature's calling

The green trees around me

by which people pause and go

around which they work and do not know
trees give them food and shelter

and help them to survive

but people don't care, they cut them
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and do not let them thrive

they cut them to pieces

they make their furniture

but they do not know what part

a tree plays in their future.

| like beautiful trees

which give me fresh breeze

i love them they are my best friends.
We share our joys and sorrows

the trees and i we borrow and lend.

17.  The ending of the poem tells.
a) The poetis a money lender
b) Inter dependence of plants and human beings.
c) The poet has borrowed something from the trees.
d) The poet likes trees.

18.  The word 'shelter' can be replaced by.
a) Shelve B) Shell
c) Aplace giving protection d)  House

19.  The message of the poem is.
a) Therole of trees in our lives
b)  The poet likes beautiful trees
c) Tree should be used to make furniture
d) Furniture should not be made from trees.

20.  The antonym of 'thrive' is.
a) grow (b) perish c¢) prosper (d) flourish

Taking An Exam

® There are some people who test well and some who don't. This
has little to do with one's knowledge or amount of preparedness. Quite
often it simply means being prepared mentally. It doesn't hurt really to
have a little anxiety before exam, but 25 certainly you don't have to
worry yourself sick. Don't underestimate yourself and think positive.

21.  Phase 'quite often' is similar to

a) never b) always
c) usually d) sometimes
22.  Which word or words can replace the word 'little' in the extract?
a) small b)  short
c) less d)  nothing much
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23.

24.

25.

26.

Word 'anxiety' is similar to.

a) depression b)  stress

c) tension d) exertion
Which word can be used in place of 'think positive' ?
a) pessimism b)  be pessimistic
c) optimism d)  be optimistic
Spell out correctly.

a) Certainily b)  Certainlly

c) Certainly d) Certinly

Write the opposite of the word 'before’.

a) ago b) after

c) later d) easy

The English language 1 like a full course dinner, rich 2 a variety 3

delicious foods grown all over 4 world. No other language 5 so rich a
vocabulary. Many countries have contributed in making English both
useful 6 colourful.

27.

28.

29.

30.

31.

32.

Which of these fits gap 4 ?

a) a b) the
c) this d) an
Which of these fits gap 1 ?

a) is b) are
c) was d) were
Which of these fits gap 6 ?

a) but b) or

c) and d) Dbesides
Which of these fits gap 3 ?

a) in b) like
c) from d) of
Which of these fits gap 27

a) in b) of

c) as d) into
Which of these fits gap 5 ?

a) give b) have
c) has d is
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33.

34.

35.

36.

37.

Vijay was sitting in a train with his luggage on his head. When asked
he replied, " | am doing a service to the train. 'l have unburdened the
train of the additional load. Undaunted by the stare of the people.
| have been helping the train like this for years."

People were staring at Vijay because-

a) They were impressed by his services to the railway.

b) Carrying luggage on head while sitting in the train is
odd.

c) He was undaunted.

d) They wanted him to carry their luggage.

The incident can be labelled as-

a) Humorous b)  Tragic
c) Shocking d)  Adventurous
Birds

A habitat is a place where an animal normally lives. The term
ecological niche is the position and function of an organism in a
community of plants and animals. Different birds have different
ecological niche. How ever its choice depends upon the kind of food
that a bird eats. Often you can tell where a bird lives by the shape of
its beak and its feet. For example a duck or a crane lives in water
and feed upon the animals available there. In wet meadow areas
cattle egrets are seen following grazing buffaloes and eating the
ground insects that are disturbed by their movements.

Habitat means

a) addiction

b) natural home of a living creature

c) house

d) nest

Word 'organism' is used for

a) an individual animal plant or other life form.
b) insect

c) pigeons

d) related to organs

Word 'meadow' can be replaced by

a) melody b)  wet place
c) field d) grassland
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38.

39.

40.

Cattle egrets follow buffaloes

a) to disturb the insects

b) for food

c) to stop the disturbance

d) because the meadow is wet

Find the incorrect statement.

a) Beaks and feet of birds are of various shapes.

b) Birds eat various types of food

C) A bird can change the shape of its beak and feet.
d) Each bird has a different ecological niche

Each worker bee makes ten trips a day and visits about 1000

flowers on each trip. it takes 65,000 trips to 65 million flowers to
make one kg of honey. Thats why it is said, "as busy as a bee."

Find out who is as busy as bee-

a) Sita packs 10 flowers daily.

b) My grandfather wakes up early in the morning and goes
for a stroll.

c) A bus makes 65 trips daily.

d) My mother prepares all the meals cleans the house

performs her office duties and helps me in my studies.

Language Conventions (English)
Grammar and vocabulary usage Based MCQs.

Select the part of the sentence. Where you find an error.

41.

42.

43.

(a) (b) (c) (d)
If / you have wings /you must fly / no error

a) If b)  you have wings
c) you must fly d)  Noerror

Alice tried to make out/ who were the two sides of/ the round
mushroom/ no error.

a) Alice tried to make out

b) who were the two sides of

c) the round mushroom

d) no error

Early people / lived by / hunting animals / no error
a) Early people b) lived by

c) hunting animals d) noerror
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44. The morning assembly / were addressed / by the principal / no

error.
a) the morning assembly
b) were addressed
C) by the principal
d) no error
Choose the correct sentence
45. a) Everybody wants easy money now-a-days.
b) Everybody wants easy going money now-a-day.
C) Everybody wants difficult money now-a-day.
d) Anybody wants take it easy money.
46. a) Ranbir Kapor acting very well in '‘Barfi'.
b) Ranbir Kapoor was acted very well in 'Barfi'.
c) Ranbir Kapoor acted very well in 'Barfi'.
d) Ranbir Kapoor acted very well at 'Barfi'.
47. a) The girl is wearing a frock blue beautiful.
b) The girl is wearing a blue beautiful frock.
c) The girl is wearing a beautiful blue frock.
d) The girl is wear a beautiful blue frock.
48. a) The tortoise won the race.
b) The tortoise one the race.
C) The tortoise win the race.
d) The tortoise own the race.
* Choose the best answer-
49.  Sita bought some apples. Where should she put the apples?
a) up the basket b) inthe basket
C) at the basket d) tothe market
50. The teacher distributed the sweets the students.
a) between b) to
c) among d) with
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51.

52.

53.

54.

55.

What is the time your watch

a) by b) on

c) at d) in

When Yuvraj Singh to

cancer his mother him all the time.
a) stand up, stand by

b) stood up, stood by

c) stood down, stand .

d) stood upto, standing by

No friend will come to your party but

a) you b) |

c) me d) we

One should take care of house.

a) one b) one's

c) ones d) his

Replace the picture by the most suitable alternative-
a) fruitful b)  fruitless

c) mango less d)  fruit minus

undertaking

ultimately proves unsuccessful
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56.

57.

58.

59.

60.

Doctor : Take ful of the cough syrup everyday.
Patient: But i have only one spoon at home.

a) three spoonsful b)  three spoonfulls

c) three spoonful d)  spoons and fulls

To avoid dehydration in summers use a lot of liquids for drinking.
a) milk b)  beverages

c) water d) coffee

Pooja is wearing a frock with a decorative piece of material on
the edge.

a) print b)  embroidery

c) colour d) frill

Choose the missing word.

Horses ;neigh :: bray.

a) Bears b)  Horses
C) Monkeys d) Donkeys
Kangaroos : hop :: snakes

a) crawl b) eat

c) breathe d) sleep
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10.

13.

16.

19.

22.

25.

28.

31.

34.

37.

40.

43.

46.

49.

52.

55.

58.

(a)

(b)
(c)
(b)
(b)
(a)
(d)
(c)
(a)
(@)
(a)
(d)
(d)
(d)
(c)
(b)
(b)
(b)
(d)

Language Convention (English)
(Answer Key)

1.
14.
17.
20.
23.
26.
29.
32.
35.
38.
41,
44,
47.
50.
53.
56.

59.

69

12.

15.

18.

21.

24.

27.

30.

33.

36.

39.

42.

45.

48.

51.

54.

57.

60.

(d)

(b)
(d)

(a)
(c)

(@)

(a)

(@)

(b)

(a)
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10.

11.

12.

To

13.

T T HHT T oG STl § 2

(%) el & q13Y H Hiel AT §
(@) SH-USg H oied 3Te 9
(7T) QT3 deel-oxad A 9
(7)) TREG A sifees ot 9 9

“qrt wTeE o & e §-

(&) 3R T (@) g IR et
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‘ST’ T HEl SeTelul §-

() S (@) SRR

() O (@) ofeeaf
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(%) Hi& g (@) TWIF W EHA
(M) T W GEH (F)  oreft " oeH
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14.

15.

16.

17.

18.

19.

20.

‘So’ 3Teg T A9 B

(®) S (@) fea

(M) S (]) TO9U

' q v H Qv foRde e woge gem v ?

(%) THaE (@) ¥Fa

(M  SfE () =g

SR hferar skt 3fera sfteier gfru-

(%) F&l I FHe (@) gog afeas
CIRESIE (%)  HFe |, 94 o=

YT U, YH FHT AT GIST HT ST FT 7
8L HTEdl T Gl FH ([T €1
STT-99 T TR ST % 3R 7,
o & Wi, 3% I H1 1Y @ &1

hfa B T 99 I 1d HL @ E ?

(%) JH-UL (@) If-ug
(7)) Sfted-uy ()  AAE-UY
B NS M o I o e B G BN A G el

(%) A«forem (@) aAfr+an
(1) STe+EaT (%)  Srgae
‘o’ gTee & WY A 91 fowivo 2

() = (@) G
(M = (71) <"
g &1 3fad ‘e’ saET|

(F) IR (@)
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21.

22.

23.

24.
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25.

26.

27.

28.

29.

30.

31.
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32.

33.

34.

35.

36.

37.

38.

39.

40.

FHITHAT T v Rl & o 3l

(%) =R (@) .
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frefafed § 9 SF-91 v oM § 2

(F) W (@) T
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41.

42.

43.

44.

45.

46.

47.

48.

49.
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50.

51.

52.

53.

54.

55.

56.

57.

58.

N S T 531 Werdl 8-

(&) foag (@) w3

() == (%) H9gH
FrAfafed v 1 98 gfee v Bifeu- dgeht

(%) gl (@)

(1) (7)) 9A
frfafea v <1 & Sifan v sifeu- e
(%) STeATaehT (@) fafeae

S IRED (%) @fetent
Frfaten s | t@nfed v & fou 3o ves 1 g wifse-
AT Rl a8 T AH HAE B 1B e, T Bt fommera § et ®1
(/) ==—A (@) e

(1) = (*)  F=Hi

TH T TS AGHT E, ST wovvevvenvennenns H 9gd I9 T
(%) WA (@) wEd

() 8 (%) WA

I | Wifohd IS T R §-

etk od 9 e g1

(F) FHO HH (@) HdsiHh
(M)  FHH FH (9)  3TYREH HRH
T o8 T A HHE € |

(%) FHHPRH (@) SIfeRor e
()  EY FRE ()  HelreH
Aftar 3 frae ferm )

(%) FHHRRH (@) i FH
(7)) 0 _RH (9) H9HeH
A Feda ¥ Beldl B

(F) ol HRD (@) I FEH
()  THEH HRH () 3TUEH HReh

78 Class_VII_PSA



fFrreferiaa smer # Ram v st gfd o forg @@ qera = ==
FhifeT-

AR AT T o T 9% @
(F) Yhs T 9 e #
(@) =FhgeHH

(1) =R H AR A
(7)) oitdEl ¥ ga g |

T 1 TgAT- T @l S1dl, S8 fA @l v Tl
(F) TH IR TH ARG (@) TR-TR 98 ure
() hTel 318 Y R () SuferEi W T=m

79 Class_VII_PSA



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

S

8 o H ¥4 8 o o ¥ o

4 ¢ oA A

|

4 g 8

et e
I - HTAT

21, T
2. @
23. @
24. &
25. &
26. T
27. @
28. T
29. @
30. T
31, T
2. @
3. &
34. ¥
35, T
36. &
37.
38. &
39. @
40. @
80

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

o

4 o 9 4

4 ¢ o o s s 4

d o o A

-~

Class_VII_PSA



Q.1

Q.2

Q.3

Q.4

SAMPLE PAPER -1

Find the value of P if 3(P+1) = %

(@ 8 (b) 5
1 1
) 7 d) &
gt 3(P+1) = % H P %1 A =1 B 2
(@ 8 (b) 5
1 1
) 7 d) &
Perimeter of square park is 560m then area of this park is:
(a)  19600m? (b)  22500m?
(c) 16900m? (d) 16000m?
Tk IR TTeh T TRATT 560 HF T, 3H ITh 1 &%et A1 3 |
(a)  19600m? (b)  22500m?
(c) 16900m? (d) 16000m?
The valve of [625™ ™" + [5™ x 5" x 5° x 5
(a) 125™" (b) 25"
(C) 53(m+n+p+q) (d) 5m+n+P+q
A T w0 [625 P+ [5™ x 5" x 5° x 57
(a) 125™ (b) 25"
(C) 53(m+n+p+q) (d) 5m+“+p+q

Out of an income of Rs. 15000 Nagma Spends Rs. 10,200.
What percentage of her income does she save.

@) 32% (b)  42%

) 10% d) 38%

T ST Hel 15000 I SAFCA § T TG 10200 T L <t § 1 I8
3TYT AT T foha WfaeTa sr=d it |

@) 32% (b)  42%

) 10% (d) 38%
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Q.5

Q.6

Q.7

Q.8

An eagle was flying at a speed of 180km/h. How much is its
speed in m/s.

T =il 180 Tohtlo/=ie hi =Tl W Toa=/or ST W & 1 STeh! =1 1 0T
Hrey/Hehe H o1 B ?

(@ 50 (b) 100
(c) 130 (d) 200

Water boils at 100°C. On adding a substance, the boiling point
increased by 20°C. What is the boiling point of the solution?
Tt 100°C W 39 § | forelt 7eref & fHeim | 39eht Sae &1 a9

20°C 9¢ 71 | f9e™7 & 3eet a1 a1d =11 8T |

(@) 110°C (b) 120°C
(c) 130°C (d) 30°C

Alphabet 'Z' is inscribed on Suman's T-Shirt on looking in to the
mirror, of her house, the image of alphabet 'Z' will look like_

oA 1 -3 R ol 'Z' feren ¥ 1 R § o <dur § 39 i o1 yidfee e
fewmm-

(@ X (b) Z

() N d) w

- 600m
- 500m
------------- - 400m

--------- - 300ml

STHS T T 200m

———————— - 100m

My mother prepared mangoshake in a graduated mixijar as
shown. Out of which | took 190ml, how much mangoshake is left
for my sister?

B A 9 sTenfrd frerdteR | Heiries ammn | fSred & 79 190 fiefle (ml)
o o, 7% =ew & fag foramn Heees == ?

(@) 190 ml (b) 100 mi

(c) 210ml (d) 220 mi
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Q.9

Q.10

Q.11

Q.12

To9

T10

Under various programmes, efforts are being made to protect
and preserve biodiversity. In India, 551 wildlife santuaries, 96
national parks, 25 lakes and 33 Botanical gardens have been
made for preserved plants and birds. There are about 2000
species of birds and 3500 species of mammals, 30000 species
of insects and 15000 species of plants in wildlife of India

How many wildlife sanctuaries are there in India?

(@) 96 (b) 25

(c) 551 (d) 33

What are the total numbers of National parks and botanical
garden?

(a) 128 (b) 129

(c) 130 (d) 131

How many mammals are there in India?

(a) 2500 (b) 3000

(c) 3500 (d) 4000

How many species of birds are there in wildlife of India?
(@) 2000 (b) 2500

(c) 3000 (d) 13500

fafy= wrEiwdl & ded eAR oW § Sifaw fafaud & @em @ s=me &
T fRd S W ¥ 9Ra H Wfam 919 9 ueht & faw 551 9= Sftew
IRTG, 96 TEIT o Sial qel 33 aefehel M SHT TT ¥ 1 YRAT
F=ISial B 2000 Ueft o TAEMRAT St 3500 GSTTGAT, 30000 fhew & i,
15000 feore & di9 ¥ |

IR § forad a1 Site 9o § 2

(a) 96 (b) 25

(c) 551 (d) 33

T UM o Sefehel e Tt el Get fardt § 2
(@ 128 (b) 129

(c) 130 (d) 131
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W11

To12

Q.13

Q.14

Q.15

Q.19

URd | SR &1 g fordel &2

(a) 2500 (b) 3000

(c) 3500 (d) 4000

IR F=rsiial § aferdi i fohaet geifaan g 2

(@ 2000 (b) 2500

(c) 3000 (d) 3500

From the figure find the value of A

= o 1 S A &1 3 Sarstt

(@) 5 (b) 41

(c) 35 (d) 81

If AT = 20 and BAT = 40 then the value of BREAD is:
(a) 800 (b) 820

(c) 700 (d) 720

Ifg AT = 20 @21 BAT = 40 & &t BREAD =1 | 31 81T ?
(@) 800 (b) 820

(c) 700 (d) 720

Find the odd one out (23, 29) (19, 25) (13, 17) (3, 5)
(@) (23, 29) (b) (19, 25)

() (13,17) d (3,9

= faesheq skl giT:

(@) (23, 29) (b) (19, 25)

() (13,17) d (3,9

Find the mirror image when X, Y denotes the position of mirror

Ifg X, Y FHad 99 71 d1 T Fot skt srmegfa samsd

i

X Y 84 Class_VII_PSA




Q.17

Q.18

Q.19

(a) ﬁ ® 5L
@ @ RC

Ovary : Fruit :: Ovule : .............

(a) Flower (b)  Vegetable
(c) Seed (d) Bud
TSR : A 32 OIS ¢ oo

(@) & (b) TSt

(c) < (d) ket

A young boy after coming from gym complained of muscle
cramps. Doctor Mathur explained him that it was due to partial
breakdown of glucose in muscles which produce -

(@) Formic Acid (b)  Acetic Acid

(c) Lactic Acid (d)  Amino Acid

S| 9 o & 91g T frviR s 1 U § UeH &1 R1ed &t | Se

T A I a1 foh gHeR1 RO AR § Tegenls) & ST faeed | 3c-
o weTef <A |, o fe | 9 B

(@) ThIfH® T (b) wHifew s
(c) fR® o (d) T o7
Product of Neutralisation reaction is :-

(@) Acid + Water (b) Base + Water
(c) Acid + Base (d) Salt + Water
eI STfufwar & 3 ©-

(a) A=+ A (b) &R+ A

(c) o= + &R (d) @+ 5
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Q.20 Which of the following is not a water borne disease?

Q.21

Q.22

Q.23

Q.24

(@) Cholera (b)  Typhoid
(c) Jaundice (d) Malaria
=1 | ¥ 3 |1 A A9 T T R

(a) & (b) TEwRES
(c)  diferen (d)  weIfeE

Akbar was 13 years old when he become emperor. His reign
can be divided into three period. 1556-1570. Akbar become
independent of the regent. Bairam khan and other members of
his domestic staff. Military campaigns were launched against the
Suris and other Afghans, against the neighbouring kingdom of
Malwa and Gondwana and to suppress the revolt of his half-
brother Mirza Hakim and the Uzbegs. In 1568 the Sisodiya
capital of chittor was seized and in 1569 Ranthambhor.

1570-1585-
Campaigns
Campaigns
support of

Military campaigns in Gujrat were followed by
in the east Bihar, Bengal and Orissa. These
were complicated by the 1579-1580 revolt in
Mirza Hakim. 1585-1605 Expansion of Akbar's

empire. Campaigns in the North-West. Qandahar was seized
from the safavids, Kasmir and annexed.

Into how many parts Akbar's reign was divided?

(@) Four Parts (b)  Three Parts

(c) Two Parts (d) Six Parts

Who was Bairam Khan?

(a) Regent (b)  Father

(c) Grand Father (d) Son

Who was Mirza Hakim?

(@) Own Brother (b)  Step/Half Brother
(c) Relative (d) Head of Soldier
At what age Akbar become a king?

(@) 11 Years (b) 12 Years

(c) 13 Years (d) 14 Years
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To21

Ho22

To23

To24

13 9 i AU H ThReR FUE o1 | 3T IMEFAHRIA hl oA TArei o
faunfora foram S Tehal ®1 1556 ¥ 1570 & HeaH 3TheR 3704 T O™
G R 9 W] FHERE § s 8 T | 36 G SR S TR,
et Tsal ATt qen Wear H o9 Gidel WiE TAST eifhy 2R Serer
% fosie &l Tam & fau =1 R =9eme | 1568 | fagifean st aiem
fordrs aem 1569 T TOTeIR T sheaT Y foram T |

1570 3R 1585 &% WA ORI & foeg dfTw 1fyam gui 33 ifami &
TeaTq 39 g8 H faRRr, ama iR 3t # s1fm @y, 9% 1579-80 #
st arfrm & vet § gu fodie 7 iR Sfed & feam| 1585 | 1605 & A=A
3T & WU 1 faedR e | SW-afv=m # S1REM =an Tu | gehifes]
T BT HUR W hosl H fora T2 IR HYHR i ot Sirs fo=n T

3R T IMETRTA Tohdq sTafer | fawe o ?

(@) =R Y (b) o W
(c) um (d) B m
ST ©E iAo ?

(a) Tew (b) o
(c) =< (d
o<t eiferm & o ?

(a) TR Wi (b) e g
(c) TR (d)  Fafa
3T TR a8 Wi 1Y | FHTE o1 2

(@) 119 (b) 12T
(c) 13 d) 14
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Q.25

Q.26

Q.27

Q.28

Q.29

Q.30

Q.31

Read the following passage carefully and fill in the blanks.

When you pray for others, God listens ............. (1)eeeeeeenn you and
blesses them and sometimes when you are safe and happy
remember that .............. (1) S has prayed for you.

Which word fits in gap (ii)?
(@) anyone (b) everyone
(c) someone (d) noone

Which word fits in gap (i)?
(a) true (b) to
(c) too (d) two

Which of these options is not the message of the above given
passage.

(a) Kindness reciprocates (b) God responds to prayers
(c) Lets pray for all

(d)  We should pray for ourselves only

Which word can replace 'happy'?

(@) glad (b) sad

(c) peppy (d)  wonderful

It was very hot. Mohan wanted to swim. He jumped ............. the
river.

(@ in (b) into

(c) to (d) at

Pick up the part of the sentence in which there is an error.

He / was going / with his husband / No. error

a b C d

(a) He (b)  was going
(c)  with his husband (d)  No Error
Find the odd one out:

(@) member (b)  spend

(c) teach (d) play
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Q.32

To

To 33

To 34

To 35

To 36

Select the correct sentence :

(@) Angrassis green (b) Agrassis green
(c) The grassis green (d)  The grass are green

frrefafera Tare i ygai o7 | fSu T 9w+l & ST ¥g Wet fashey sifeu-

e B FaET e 8T | shied ¥ Hisd ™ off Ifiem 9 39 21 S 8

IR | ST IR e Ad H g9 faar §1 ST Sk & S b
HE AL TE A | T8 T I h HH Kl kel WA § S A
qRem 9§ St T U1, Hfcaeal ¥ 7 Haeh, 99T T ST HH HL ol
T, I8 Sited H et AR T @, SHiae sfed § 59 e 1 W8 I

¥, TR € Therdl i el B

2H forgd =&l e =nfEu |

(%) 3™ (@) uRsm
() e (7)) g
forg saferd & Sfier 1 18 o1& =&l 2idl ?

(%) Aerdt (@) g
(M) e () fow

‘ST =X gRTeR T 37 B-
(%) AT (@) MG =
() HERET (F) =% g

‘i’ g o 91ef B
(%) AH (@) 9%d

(1) HHred (°I)  Hed
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Yo 37

Yo 38

Yo 39

Yo 40

frafafes § F wH-T o ‘5o 9o 9 TR I © ?

(%) Tf=

()

HifHeh

(@) Sfaw

(¥1)

Aferd

frAfafed § 9 sal o1 W&t aa-1 ol fashed giu-

()
()

iR’ vree T fored™ vise B

()
(M)

T
S apIl

BIEED
ik

(@) Rl

(=)

ST

(@) difshen

(=)

‘S YTeE T TR ST veg Sifeu-
(@) Gyt

(%)
()

fergef
il

90

(¥1)

qHfaesh
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Q.1

Q.2

Q.3

SAMPLE PAPER - I

From a rectangular metal sheet of length and breadth is 5m and
3m respectively, a circle of radius 1m is removed. Find the area

of remaining sheet. (t = 3.14)

(@  12.16m? (b)  11.24m>

(c) 12.86m? (d) 11.86m?

Tq 1 Teh (5 el x 3 HieX) AR vie § 9 1 e oo 1 & ga
IS T ST Y AT T | =0 g TMe T &hat sanedl | (m = 3.14)

(@)  12.16m? (b)  11.24m>

(c) 12.86m? (d) 11.86m?

The value of : (-30) x (-1) + (-56) + 7 is

@ 22 b) - 276
(c) 38 (d) -240
T A9 H ¢ (-30) x (-1) + (-56) = 7

(a) 22 ©) -2
(c) 38 (d) -240
The supplement of 72° is :

(@) 108° (b) 18°
(c) 72° (d) 90°
72° 1 TEI IV BT

(@) 108° (b) 18°
(c) 72° (d) 90°
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Q.4

Q.5

Q.6

Q.7

The average of 1, 6, 8 and x is 5 then value of x is

(@ 6 (b) 7
() 5 (d) 8
Ife 1, 6, 8 3 X T HIEA 5 B A1, HT A AT B |
(@ 6 (b) 7
(c) S (d) 8

100 ml of water was poured by gardener in the sample of
garden soil and it took 20 minutes to percolate completely.
Calculate the percolation rate of water in this soil.

(@) 5 ml/min (b) 8 ml/min

() 10 ml/min (d) 15 ml/min

HTel AR 91T &1 g1 & T H 100 fhefle STet STer 7 3R 39 Sidt &1
TR H 370 a0 A H 20 e & | ga1 § Sia @i 37d: a0 X 91
I ?

(@) 5 fhefh/fiTe (b) 8 fHeito / T

(c) 10 THeflo / fie (d) 15 fhett / fie

While working in the kitchen, mother added baking soda to
vinegar by mistake. There was a hissing sound alongwith
bubbles of a gas. The gas could be-

(@) oxygen (b)  Nitrogen

(c) Carbondioxide (d)  Hydrogen

TEEER | %M Fd gU, OT 3 Terdt ¥ ®H & die § fawen fiyen fean &
el & Y eSS i Laft GE < | 78 {9 & Gehdl B-

(@) TR (b)  ESH

() HETSEHIEE (d) =EgeH

y
A

36 \/\/
35

» X
0 %Q ‘2)5 96 ‘3’5 '\00 '\Q’b

w
oo

Temperature (1°C)—
qIEE (1°C)—
w
~

Time (AM) |9T (UTd:)—
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Q.8

Q.9

Q.10

Q.11

A doctor advised the mother to monitor the body temperature of
her child after every half an hour as shown in the figure. When
was the body at normal body temperature?

TR A Tl 1 T Y HS & dIE o=d ol ATIHM A1 HI I FHal o AH |

TIMEN T B | Tohdm oIS = &1 qr9q |H=T o1 ?

(@) 800 (b) 8:30
(c) 9:00 (d) 9:30

The urine consist of water, urea and other waste products. The
percentage of water in the urine is -

G B § ST, IR IR 7 STuferse Soae B ¥ | g 6 STt i i
A feRat 2

(a) 25 (b) 10

(c) 90 d) 95

In 1901, the density of population in India was 77 persons per
square kilometres. In 1931, the number escalated quickly and
from 90 persons per sg. km. reached 325 persons per sq.km in
2001. According to 2001 census, Delhi has the highest
population density of 9340 persons per sg. km Arunanchal
Pradesh has the lowest population density of 13 persons per sq.
km. Within the states, west Bengal holds the highest population
density of 903 persons per sq. km.

In 1931, what was the population density of India?
(@ 90 (b) 70
(c) 325 (d) 13

How much low was the population density in 1901 from that of
19317

(@ 10 (b) 11

(c) 12 (d) 13

What is the population density of Delhi according to the census
20017

(a) 325 (b) 9340

(c) 903 (d) 90
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Q.12

H9

F10

W11

To12

Q.13

How much is the difference between the population densities of
Arunanchal Pradesh and West Bengal?
(a) 890 (b) 790
(c) 690 (d) 590

1901 § 9RA H SHEAT 1 ¥ Afaent fehaimie 77 SAfaa o1 | I8 et 9
1931 § 90 =afod wfaent feraidier | gt 2001 # 325 =afe wfdent
foRetiiet &1 A1 2001 I SHOAT & TIER fooell o1 SHE@ 97
TSI 9340 AfH Gfd o7t foFt. § 1 STEUE WS 1 ol A T 13
=fed gfg ot formt. &1 Tt B uf¥=m Sl 1 Seaad e 903 AT
wicert fertft © 1

1931 H YRd H SEEA S fohdr o ?

(@ 90 by 77
(c) 325 (d) 13

1901 H SHEEA e 1931 9 foha &5 o1 ?

@ 10 b) 11

(c) 12 (d) 13

2001 T TN & SATAR fEeelt 1 SHEEA 99 fohd=1 § 2
(@) 325 (b) 9340

(c) 903 (d) 90
BN Y & Yo STA H SIHEA Tcd H oo 3T 82
(a) 890 (b) 790

(c) 690 (d) 590

Question 13 to Question 15

If a, b, ¢, d, e, f and g are players. Answer the following
question after studying the figures.
g a, b, c, d, e, f g facnfedi =t @& g1 f= fo 1 @

aTENfefEd w9l & S S |
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Q.13

Q.14

Q.15

Q.16

a
Table Tennis

Badminton

Players who play all three games

(@ b (b) ¢

(c) f d g

[l T T W arel ferertedr i e sde |

(@ b (b) ¢

(c) f d g

Players who play table tennis and Volley Ball but not badminton
(@ g (b) e

() ¢ (d b

o faare! s 29 9 iR Jiefeia Sed § fohrg S &l g
(@ g (b) e

() ¢ d b

Players who play badminton and Volleyball but not table tennis:
(@) e (b) d

(c) f d b

S Jefies AR diefera Berd § foeg Taa 29 718 @erd |

(@) e (b) d

() f d b

Select the related word from the given alternatives
fqu T fasheul § 9§ rafoa wes gHu-

Circle : Circumference ::Square: .....ccccccevunnnes

(a) Volume (b) Area
(c) Diagonal (d)  Perimeter
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Q.17

Q.18

Q.19

a

(@)
(c) formt (d) R

Read the passage and Answer the following question:-

Acid rain is that rain which contains small amount of acids
formed from acidic gases like sulphurdioxide, and Nitrogen
oxides present in the polluted air. It damages the forest trees by
destroying their leaves. It causes the leaves of trees to turn
yellow and fall off. Acid rain makes the soil acidic. This acidic
soil is not good for the growth of crop plants. Acid rain causes
the water in ponds, lakes and rivers to become much more
acidic and unsuitable for the survival of acquatic animals and
plants. Due to high acidity of water acquatic animals such as
fish get killed. Acid rain also makes the statues, buildings and
monuments to crumble away slowly. The experts have warned
that air pollution around TajMahal area is discoloring its marble
and also corroding it slowly. This poses a threat to the beauty of
TajMahal. The slow corrossion of marble of a monument by acid
rain is also known as 'Marble Cancer'. The Supreme Court of
India has ordered all the industries and vehicles in Agra area to
switch over to cleaner fuels like CNG and LPG to reduce
pollution.

In a pond, large number of fish are dying. The possible reason
could be:-

(@) People are using pond water for their activities

(b)  High acidity of pond water

(c) Buffaloes taking bath in pond water

(d)  kids playing near the pond

Acid rain is caused due to
(@) Copper Oxides (b)  Nitrogen Oxides
(c) lron Oxides (d)  None of these

'‘Marble Cancer' causes:
(@)  Whitening of marble  (b)  Slow corrosion of marble
(c)  Cutting of marble (d)  Exporting marble
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Q.20 Government in Agra needs to follow few steps to curb pollution.

To

To17

(a) Encourage petrol run vehicles

(b)  Switch over to cleaner fuels like CNG or LPG
(c)  Allow industries to use coal/diesel as fuels
(d)  All of these

TTRITST 1 Ugah? f 991 & ST Sifere-

Tt aut o7 w7 e ugfia ag # disg el sieee SR
YohielE s SEl el a9 Tfed 31t st Bel Je I8 St €
3TeA ot qfEl ] 5 hieh ST & UGl 1 JohEH Ul 1 3Hh
SR YSi i gl dielt & St § 3R R ordt €1 enefta oot & SR
& YT 3T B ST ¥ | I STt Hel wEe uidl & foae & faw suged
T T At gut arersi, Siel IR A & UM bl agd Ifus et
I <t & FTEd =g St wiefra Sfidi 3fR et & Sfifaa wa & faw sruge
B ST 1 U R ST9 STAdT & Il Soitg Sie S9 Haferat i el
T ST gl qfdd, TARGl SR TR bl HR-HR T HId S @I
faRo=l A Heee fohan 3 fF aromea &9 & S o YguT 9 SHH
T TRTAR. Wi 21 @1 § 3R T1 # sgea &1 @l €1 98 dIo/Hed i
AL & T ©aU o gl ¥ | ST i S foRdl TRe o ST
1 -4 Genfid 1 TR FER e § | YR hi Haed SfeTerd
7 T TGUU FH HH & (AU A &5 | 9t T iR Al Rl wes
e ST HITAS 3TR TeTdisi shl W& ohid & 3Te9 fau ®1

T drere § agd o Aeferal TR W@ § | 9 R0 &1 Hehdl -

(@) @ 3T feRaTeRaTdl @ foTe arerd & 9T T YA Y @ T
(b) TS % T i 3o STAT

(c) e & et § el 1 T_E

(d) T @ 99 g=di Rl Bl
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To18

T19

To20

Q.21

Q.22

STRATT T T HRT B

(@) W RS (b) RIS MRS

(c)  oTRA siferES (d) =78 ¥ FIE Tl

HTRR e | A B

(@) TITIER &1 b el (b) TR T - Healkd g
(c)  TITHER I Al (d) TR &1

TGHUT T HH HH & T TR § THR 1 B HeH 33 § Sid-
(@) U T T 9Tl el Sl Scled hl

(b) =3 oA S HuAS TR TeAdls 1 ST FAm L
(c) N I H IR SISt ST oM TN A i TTAM
(d) ST Tt |

Select the correct answer from Question

The major results of the trading companies of Europe used Navy
Power-

(@) Trade Control (b)  Control of Governance

(c) Force Control (d)  Production Control

T 1 AR HIE o GRI A-TIfeRT T TAFT 1 T IROMH =1 o1
(@) SMUR W = (b) 3T R

(c) T W = (d) SeRA W=

Which of the following was not a Sufi Saint-

(@) Khwaja Muin Uddin Chisti

(b)  Chaitanya Mahaprabhu

(c) Khawaja Nizamuddin Aulia

(d) Bandanbaj Gisudraj

forer 3 @ g Fa T 9

(@) TS qeasEA fawdt (b) == WRTIY

(c) T fomgEA sfiferar (d) ST e
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Q.23 Which of the above pairs is not correct
(@)  Surdas-Literature Lahiri
(b)  Sankara Dev - Namdhar
(c) Kabir - Panchwani
(d)  Tulsi Das - Seed

SRR T T S H i W T R
(a) HEW - Hife ol (b) TR IT - TER
(c) wHER - g=art (d) Tl T - iR
Q.24 If the Car smoke polluted the air then trash from the factory.....
(@) Sound Pollution (b)  Thermal Pollution
(c)  Water Pollution (d)  Dust Pollution
3TR R § Fehen YT a9y 1 Yo hial § @ wREM § e & .
(a) &AM o (b)  SoHI g
(c) Tt Hgum (d) ot S

Q.25 Read the passage carefully and fill in the blanks with
correct form of the word 'move":

An escalator is a conveyor type transport device that

........... (i)-e......... people. ltis a .......... (ii) ............... staircase with
steps that .............. ((1T) I up or down using a conveyor belt
and tracks. This makes the ................ (A7) ISP convenient.

a. i. moving ii. movement iii. moves iv. move

b. i. moves ii. moving iii. move iv. movement

C. i. movement ii. moves iii. move iv. moving

d. I. moving ii. move iii. moves iv. movement

Q.26 Picking the correct sentence :

(@) Sohan is intelligent boy in the class

(b)  Sohan is more intelligent boy in the class

(c) Sohan is most intelligent boy on the whole class
(d)  Sohan is the most intelligent boy in the class
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Q.27

Q.28

Q.29

Q.30

Q.31

Which word is closely related to the underlined word?

He employed all possible mean to reach his goal.

(a) appointed (b)  used
(c) hired (d) engaged

Which of the following options is not related to the underlined

word?

In the present day world an ignorant person is not respected.

(@) unlearned (b) illiterate
(c) innocent (d) ill-informed

Choose the part of the sentence with an error:

Yesterday / | go / to the zoo / No. Error
(a) (b) (c) (d)

(@) Yesterday (b) Igo
(c) tothe zoo (d)  No error

Replace the picture with the correct word:

The chief guest was presented

a of flowers.
(a) bouquet (b) garland
(c) pack (d) group

Fill the gap with the correct words

The plants ............... by the gardener.

(a) are watering (b) are water

(c) are being watered (d) give water
100

Class_VII_PSA



Q.32 Choose the correct picture: Wi
B 'ght g,
Ies d

S Yoy
000

T frfefaa shreaisr @t uget 3fd W fau wwHl & SO ¥ 9@ faewew

o o drg foen € SiH 1 AR SET &1, ST shiel & 99 W 3T,
el 1 ITER IHT hI | TI-THHT T A% iy, R e ¥ afe 2,
3T drel W qHHMI, AR & Hsel W A1, 5o e dira o, wehe ©

TRR 3 &
To 33.  hidal o STTER S = AR fF8 &2
(%) < 2T W& B (@) o 7o die femn ®
() S A R (=) 59 S et B
To 34.  Thall 1 STER ford fierar g2
(F) S Al W Fed@ ¥ (@) SN el R T ¥
() S N B () ST Gehel h1 GIET HIdl B
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Yo 35.

To 36.

Yo 37.

Yo 38.

To 39.

To 40.
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Q.1

Q.2

Q.3

Q4

SAMPLE PAPER -1l

If 9 is subtracted from five times a number, the result is 71. Find
the number

(@) 16 (b) 20
(c) 10 d) 15
et T & o= O | | 9 W2 W 71 9 2t 8| A YA sane |
(@) 16 (b) 20
) 10 (d) 15

A competitive examination containing 20 questions, (3) marks
are awarded for every correct answer and (-2) marks are
awarded for every incorrect answer and (0) for questions not
attempted. Sita gets 12 questions correct and 5 questions she
did not attempted. How much marks she obtained.

(a) 36 (b) 26

(c) 30 (d) 25

Teh WIGTaT Tiel & Ueos § e 20 WeA §, Torad wliereft 61 woieh TR

IW & AT 3 37, TS TToTd IR o AT (-2) 37 91 HIE SW 9 o7 |
0 37k Ther | Tiar 3 59 uden | et 12 WA & T SW fSu qen 5 yve &
3T DTS IW TR 541 | 3US /A Wik ¢ |

(@) 36 (b) 26
(c) 30 (d) 25
The value of (14°+15°) x (16°-17°)

(@ 2 by O
(c) 3 (d) 4
T HU (14°+15°) x (16°-17°)

(@ 2 (b) O
(c) 3 (d) 4

A bag contains 6 red marbles and 4 blue marbles. A marble is
selected from the bag at random. What is the probability that
marble drawn is a red marble

(a) 2/5 (b) 3/5

(c) 1 (d) 2/3
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Q.5

Q.6

Q.7

Teh ST H 6 ol & 3R 4 il &< § | Ueh o A 9 FHehren S g1
T ST Sl 3T 1 ATfIehal o |

(@ 2/5 (b) 3/5
(c) 1 (d)y 2/3

Melting points of certain substances is given below. Answer
the following questions using this information

Material Melting Point (°C)
Chocolate 35

Silver 960

Salt 800

Sugar 185

Gold 1064

Mercury -39

Mohan got a gift of chocolate. It was very hot and by the time he
reached home, chocolate got melted. What could be the
temperature that day?

(@) Lessthan 35°C (b)  More than 35°C

(c) Lessthan0°C (d)  None of these

Gold and silver were to be melted for making jewellery. What do
you think would happen?

(@)  Silver will get melted first

(b)  Gold will get melted first

(c) Both of them will melt at same temperature

(d)  We can't say anything

Which substance has a melting point even lower than that of
ice?

(a) Chocolate (b) Gold

(c) Mercury (d) Salt

104 Class_VII_PSA



Q.8

Ho5

Tob

Qo7

T8

What is the difference between the highest and the lowest
melting point.

(@) 1025°C (b) 1103°C

(c) 1029°C (d) 1099°C

3 Taret o1 foeem 1 arg e e T © ) S T diferent % euR W e
R L P

uered e =t a7 (°C)
ey 35

et 960

THH 800

==t 185

ESIEll 1064

EIK -39

TIgA ! T dlehele 1 AWl el | 98 fed agd T o1 3iR 35 ¥R 31
A Sicheie foere T | 39 e 1 aTq|H 3 @l 8 2
(a) 35°Ca &M (b) 35°C ¥ =
(c) 0°CIFw (d) =7 & HE T

T 3R <1<T 1 Torererens STIYOT 1T S €1 3T9eh T8N I 2hTl-
(a) it wed fsa st (b) G Rl et smam
(c) T TgE A R ot (d)  HS wEl el S gehdl

forg et 1 e FT A IR A fFH T
(@) fcie (b) &
(c) T (d) &

feehan IR =gan foeer & 99 | 9 SR 7?2

(@) 1025°C (b) 1103°C
(c) 1029°C (d) 1099°C
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Q.9

Q.10

Q.M

In a store of grains, 2500 sacks of grains can be stored. There
are 750 sacks of wheat and 1200 sacks of rice. How many more
sacks of grains can be stored there?

(a) 450 (b) 550

(c) 650 (d) 750

Teh TS & TG | 2500 ART 3T 311 Thdl € | 59 7™ § 750 aR’T 1§

3R 1200 S =Tad &1 9 fohda SR 3T1ST 37X 37 Tehdl © 2

(@) 450 (b) 550
(c) 630 (d) 750

Following are the readings of temperatures in summers in Delhi
for four days:

Mon Tues Wed Thurs

36°C 38°C 42°C 45°C

Which two days had the average temperature of 40°C.
(@) Mon-Tues (b) Tues-Wed

(c) Wed-Thurs (d) Thurs-Mon
fooett # Tt & feit § =R feA o1 aromm f=fate §:-
| T g9 dRaR

36°C 38°C 42°C 45°C

R <1 fei 9§ sirea araee 40°C BT |

(@) AHER-TTA (b)  HTA-IH

(c) dy-dRar (d)  ER-|HaR

A train takes 6 and a half hours to reach Delhi from Kanpur.

If the Train leaves Kanpur for Delhi at 10.15 AM, then at what
time will it reach Delhi?

(@) 4.00 PM (b) 4.15PM

(c) 4.45PM (d) 4.30PM

AR § el 3T arelt T el fooel g9 # 91¢ 88 o= ol 5| AfS

g Sl MY I TH STl U5g e § =erdl, df feeett fovd wma

T ?
(@) 4.00 PM (b) 4.15PM
(c) 4.45PM (d) 4.30 PM
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Q.12

Q.13

Q.14

Sikandar travels 4 hours 15 mins by train, 2 hours 30 mins by
bus and walks 15 minutes on his own to go to his grandfather's
house. How much time does it take for him to reach his
grandfather's place in total?

(@) 7hrs (b) 8hrs

(c) 7.30hrs (d) 8.30 hrs

=Y 379 SRS & R oM & ot IR 9= 958 T 7 9 9
B e 99 fo9e 919 9 9 Hiar § 991 958 A Yoo 9orar €1 sast
38 TR & T ST H el oha T8I TR ¢ 2

@ 7= b) s

(c) 7.30%= (d) 8.30 5=

Find the missing number
0,1,1,2,3,5,8,13,21 ............

(a) 31 (b) 25
(c) 34 (d) 36
ST FE&AT IR
0,1,1,2,3,5,8,13,21 ............

(@) 31 (b) 25
(c) 34 (d) 36

Which one of the given responses would be a meaningful order
of the following words in ascending order

(i) LINE (i) ANGLE (iii) SQUARE (iv) TRIANGLE
(@) 4,2,1,3 (b) 1,2,3,4
(c) 1,2,4,3 (d) 3,4,1,2

feu v fasredl @ 9 SF @1 fFAfdARed w5t 1 diefeh AR HH ST

1. @ 2.0 3. 4. fe
(@ 4,2,1,3 (b) 1,2,3,4
(c) 1,2,4,3 (d 3,4,1,2
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Q.15 There are five friends - Kritika, Vedant , Aarushi, Abhinay,
Ananya. Aarushi is the tallest. Kritika is shorter than Vedant
but taller than Ananya, Abhinav is little shorter than vedant but
little taller than kritika. Who is taller than Aanya but shorter
than Abhinav.?

a) Abhinav b) Vedant
c) Anaya d) Kritika
HidehT, IgTd, ey, Afia, 3= i st 1 el 9ol ol ¥ |

et agid | D! ¢ foheg 371 A orvall 81 31T AT A it Bia
T | foreg faem @ oret ol %1 3= @ o g 1fra | Sier

gl
a) 3ifiHg b) o=@
c) = d) gfdehr
Q.16 Abhinav moves 4km in south direction then he moves 3km in
east direction. How far is he from the stating point.
a) 5km b) 1km
c) 3km d) 4km

T 16: A 4 for. . gferor fgem o6t R =t €1 R qd & SR gea 3
for. . T a1 T 1 % T IR T 9 fRal X T

a) 5km b) 1km
c) 3km d) 4km
Q.17 False feet for movement in Amoeba is called-
a) Nucleus b) Vacuole
c) Pseudo podia ~d) Cytoplasm
STHYE | T & fa s> i 31 wgand § 2
a) &5k b) @ =
c) U= d) IR A
Q.18 Selecting parents for obtaining special characters in sheep is
called-
a) shearing b)  Scouring
c) selective breeding d) sorting
IERSIRENERIERES] %WW@WW@W@W%—
a) o1 ol hes b) IfyHsE
c) aOMHS TS d) e
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Q.19 Dialysis is done in case of failure of-

a) Kidney b) Intestine
c) Eyes ’ d) Lungs
3T (SEEEiad) YRR & foy o & forarde 8 W fhan S 2-
a) 9%k b) =
c) st d) wwe
Q.20 Powdery ash obtained on burning magnesium ribbon is
TTRTH & HId I ST W I vord Wi fohd veref i 8-
a) Na,o b) Mgo
c) Mgco, d) Mgcl,

Engine drivers are men. But 27 years old Laxmi Lakra, from a
poor tribal family in Jharkhand has begun to change things. She is the
first women engine driver for Northern Railways.

Laxmi's parents are not literate but they struggled and
overcame many hardships to make sure their children got an education.
Laxmi studies in a government school. Even in school Laxmi helped
with the house work and did odd jobs. She studies hard and did well
and then went on to get a Diploma in electronics. She then took the
Railway Board exam and passed it on her first attempt.

On the basis of above passage

Q.21 What is the occupation of Laxmi Lakra ?
a) Engineer b) Doctor
c) Driver (Rail) d) Teacher
Q.22 From which community Laxmi Lakra is related?
a) Jain Community b) Buddhist Community
c) Tribal Community d) Sikh Community
Q.23 Laxmi's parents education is?
a) 10th Pass b) 12th Pass
c) Graduate d) illiterate
Q.24 What kind of girl was Laxmi?
a) Daredevil b) Hard Working
c) weak d) Lazy
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IUTS TIEITYT o 3R W) FAefefiad ugAt o o difsa-

I 1 ToH ACH! Il § W IREE & Teh T SAffeardt IR i 27
JuTe Higed AAGH SR 39 4RI i WEY ¢ o | ST 379 i 98 Tgell Afea
TS 1Tk S |

Al & Ar-faar ve fore FE ¥ W IWA S F=al hl 9o & fau
wgd |ud R | et 1 fran Ter) Tha H g | Wha H Ued & wig-"iy dsHl
W& wE T R # off g derdt §1 39 79 e BeAd Fi iR TR
U e SRl | fewim stfsia foran | i o8 3oa A &t odien § a9t 3R
TR € SRITeTRT H A0 & |

¥.21 e AR o U9 F e T2

F) ST (@) SR

M) gEE (W) (m) oz
¥.22 A AR o THEE | 2T § 2

%) S TS (@) g g™

M) ATt T () fowa wE@
¥.23 & o HaT-Tar 6t foren el do g8 off ?

®) 10 < 99 (@) 12 o qmg

) INEE (M) 39
.24 et TR TE i AShT ot ?

&) T (@) Hear

) FHHSAR () STreTdt

Read the passage carefully and choose the most appropriate
option to fill in the blanks.

Reduce the amount of 25 you produce by buying minimally
packed goods. Choose reusable products over 26 ones. 27 use
remotes to switch off your TV and AC. Switch them off from mains to
save 28. Make maximum use of natural light. Turn off the water while 29
your teeth.

110 Class_VII_PSA



Q.25

Q.26

Q.27

Q.28

Q.29

Q.30.

Q.31

Q.32

(a) waste (b) wastes

(c) wasted (d) vegetables
a) disposed (b) breakable

c) disposable (d) usable

a) No (b) Do not

c) not (d) stop

a) TV (b) appliance

c) Water (d) electricity

a) brushing (b) brush

c) brushed (d) washing

Find the part of the sentence in which there is a mistake.
Santa and Banta went / to a hotel for eating / deliciously food /

no error.
a) Santa and Banta went
b) to a hotel for eating

c) deliciously food

d) No error

Choose the correct sentence.

a) The police arrested the thief.

b)  The judge arrested the thief.

c) The police was arrested the thief.
d) All body arrested the thief.

Choose the correct pair

A jumped over the fence and started looking
and there for some carrots.

a) hair, here (b) hare , here

c) hare, hair (d) here, hare
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FrdeTar uel & 3T SR

7.33 ‘Shifd’ ITe k1 TaI faciy viss sieewt fafan-

(F) STHIfd (@) eFgRfa

(1) STUehifd (9)  3Rfd
.34 ‘WfEent’ I1sg 1 Wl SfaT v Sifeu-

() dEh (@) e

(1) TEe IR LCED
9.35 ‘Y’ I8 1 TR S v Sifen-

(%) ¥l (@) At

() TR (&) AR
.36 frefafea § 9 fog e § ‘a1’ voag 79 ©-

() = (@) o

(TT) @ (%) AYRar
¥.37 To=fafed § § SiF-91 931 &1 9 761 7-

(%) HIadaEH (@) SHfdaraes

SR ICEIEED GO ESEIEED
7.38 fr=fafed § § 9 @1 v gog’ 1 e T g

(%) wd (@) =N

(1) gud (%)  &gH
.39 frAfafed @l oM § a0’ v & fau sfeq a=F sifeu-

T I LT T AR A6 A e ¥,

() &FU (@) Hm

(M) wE () FHW
¥.40 TreAferfiad amr o Y@ifed ‘e’ 1 e -

3TSTT h1 YT el Hall H Tl ¢ |

(%) Hdl HRH (@) &0 FRH

(M) FH FRH (¥) HaY HRH
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(a)
(@)

(@)

(@)

113

6. (b)

12. (a)
15. (b)
18. (c)
21. (b)
24. (c)
27. (d)
30. (c)

33. (@)

36. (&)

39. (%)
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12. (a)
15. (c)
18. (b)
21. (a)
24. (c)
27. (b)
30. (a)

33. (@)

36. (®)

39. (@)
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29.

32.

35.
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(b)
(b)

(b)

(@)

(@)
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3. (b)

12. (a)
15. (d)
18. (c)
21. (c)
24. (b)
27. (b)
30. (c)

33. ()

36. ()

39. (@)
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